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Child Development and Pedagogy

Directions: Answer the following questions (Q. Nos. 1 to 30) 
by selecting the correct/most appropriate options.
1.	 Which of the following is the most effective method 

to encourage conceptual development in students?
(1)	 Give students multiple examples and encourage 

them to use reasoning.
(2)	 Use punishment till students have made the 

required conceptual changes.
(3)	 New concepts need to be understood on their 

own without any reference to the old ones.
(4)	 Replace the students incorrect ideas with correct 

ones by asking them to memorize.
 2.	 Primary school children will learn most effectively 

in an atmosphere:
(1)	 where the focus and stress are only on mastering 

primarily cognitive skills of reading, writing and 
mathematics

(2)	 where the teacher leads all the learning and 
expects students to play a passive role

(3)	 where their emotional needs are met and they 
feel that they are valued

(4)	 where the teacher is authoritative and clearly 
dictates what should be done

3.	 A child sees a crow flying past the window and says, 
“A bird.“ What does this suggest about the child’s 
thinking?

	 (i)	 The child has previously stored memories.
	 (ii)	 The child has developed the concept of a ‘bird‘.
	 (iii)	The child has developed some tools of language 

to communicate her experience.
(1)	 (i), (ii) and (iii)	 (2)	 Only (ii)
(3)	 (i) and (ii)	 (4)	 (ii) and (iii)

4.	 What should a teacher tell her students to encourage 
them to do tasks with intrinsic motivation?
(1)	 “Complete the task fast and get a toffee.“
(2)	 “Try to do it, you will learn.“
(3)	 “Come on, finish it before she does.“
(4)	 “Why can’t you be like him? See, he has done it 

perfectly.“
5.	 How can a teacher encourage her students to be 

intrinsically motivated towards learning for the sake 
of learning?
(1)	 By supporting them in setting individual goals 

and their mastery.
(2)	 By offering tangible rewards such as toffees.
(3)	 By inducing anxiety and fear.
(4)	 By giving competitive tests.

6.	 In an elementary classroom, an effective teacher 
should aim at the students to be motivated:
(1)	 by using punitive measures so that they respect 

the teacher
(2)	 to perform so that they get good marks in the 

end of the year examination

(3)	 to learn so that they become curious and love 
learning for its own sake

(4)	 to rote memorize so that they become good at 
recall

7.	 Which of the following is an example of effective 
school practice?
(1)	 Individualized learning.
(2)	 Competitive classroom
(3)	 Constant comparative evaluation
(4)	 Corporal punishment

8.	 The cephalocaudal principle of development explains 
how development proceeds from:
(1)	 head to toe
(2)	 rural to urban areas
(3)	 general to specific functions
(4)	 differentiated to integrated functions

9.	 Which of the following is a sensitive period pertaining 
to language development?
(1)	 Adulthood
(2)	 Early childhood period
(3)	 Prenatal period
(4)	 Middle childhood period

10.	 A 6 year old girl shows exceptional sporting ability. 
Both of her parents are sports persons, send her 
for coaching everyday and train her on weekends. 
Her capabilities are most likely to be the result of an 
interaction between:
(1)	 health and training
(2)	 discipline and nutrition
(3)	 heredity and environment
(4)	 growth and development

11.	  Which of the following are secondary agents of 
socialization?
(1)	 School and immediate family members.
(2)	 Family and relatives.
(3)	 Family and neighbourhood.
(4)	 School and neighbourhood.

12.	 According to Lev Vygotsky, the primary cause of 
cognitive development is:
(1)	 adjustment of mental schemas
(2)	 stimulus-response pairing
(3)	 equilibration
(4)	 social interaction

13.	 In the context of Kohlberg’s stages of moral reasoning, 
under which stage would the given typical response 
of a child fall?

	 “Your parents will be proud of you if you are honest. 
So you should be honest.“
(1)	 Good girl-good boy orientation.
(2)	 Law and order orientation.
(3)	 Punishment-obedience orientation.
(4)	 Social contract orientation.
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14.	 According to Jean Piaget, which of the following is 
necessary for learning?
(1)	 Belief in immanent justice.
(2)	 Reinforcement by teachers and parents.
(3)	 Active exploration of the environment by the 

learner.
(4)	 Observing the behaviour of adults.

15.	 According to Jean Piaget, schema building occurs as 
a result of modifying new information to fit existing 
schemes and by modifying old schemes as per new 
information.

	 These two processes are known as:
(1)	 equilibration and modification
(2)	 assimilation and accommodation
(3)	 accommodation and adaptation
(4)	 assimilation and adaptation

16.	 In a progressive classroom setup, the teacher 
facilitates learning by providing an environment 
that:
(1)	 discourages inclusion	 (2)	 encourages repetition
(3)	 promotes discovery	 (4)	 is restrictive

17.	 Howard Gardner’s theory of Multiple Intelligence 
(MI) suggests that:
(1)	 teachers should use MI as a framework for 

devising alternative ways to teach the subject 
matter

(2)	 ability is destiny and does not change over a 
period of time

(3)	 every child should be taught every subject in 
eight different ways in order to develop all of 
the intelligences

(4)	 intelligence is solely determined by IQ tests
18.	 A 5-year old girl talks to herself while trying to 

fold a T-shirt. Which of the following statements is 
correct in the context of the behaviour displayed by 
the girl?
(1)	 Jean Piaget would explain this as social 

interaction, while Lev Vygotsky would explain 
this as an exploration.

(2)	 Jean Piaget and Lev Vygotsky would explain this 
as the child’s attempt to imitate her mother.

(3)	 Jean Piaget and Lev Vygotsky would explain this 
as egocentric nature of the child’s thoughts.

(4)	 Jean Piaget would explain this as egocentric 
speech, while Lev Vygotsky would explain this 
as the child’s attempt to regulate her actions 
through private speech.

19.	 ‘Gender‘ is a/an:
(1)	 innate quality	 (2)	 social construct
(3)	 biological entity	 (4)	 physiological construct

20.	 As a teacher, who firmly believes in social 
constructivist theory of Lev Vygotsky, which of the 
following methods would you prefer for assessing 
your students?
(1)	 Fact-based recall questions.
(2)	 Objective multiple-choice type questions.
(3)	 Collaborative projects.
(4)	 Standardized tests.

21.	 To cater to individual differences in his classroom, a 
teacher should:
(1)	 engage in a dialogue with students and value 

their perspectives.
(2)	 impose strict rules upon his students

(3)	 have uniform and standard ways of teaching 
and assessment

(4)	 segregate and label children based on their 
marks

22.	 Assessment is purposeful if:
(1)	 it is done only once at the end of the year
(2)	 comparative evaluations are made to differentiate 

between the students achievements
(3)	 it induces fear and stress among the students
(4)	 it serves as a feedback for the students as well as 

the teachers.
23.	 According to NCF, 2005, the role of a teacher has to 

be:
(1)	 permissive	 (2)	 facilitative
(3)	 authoritative	 (4)	 dictatorial

24.	 Research suggests that in a diverse classroom, a 
teacher’s expectations from her students __________ 
their learning.
(1)	 should not be correlated with
(2)	 do not have any effect on
(3)	 have a significant impact on
(4)	 are the sole determinant of

25.	 Inclusion of children with special needs.
(1)	 will increase the burden on schools
(2)	 requires a change in attitude, content and 

approach to teaching
(3)	 is an unrealistic goal
(4)	 is detrimental to children without disabilities

26.	 “Having a diverse classroom with children from 
varied social, economic and cultural backgrounds 
enriches the learning experiences of all students.“ 
This statement is:
(1)	 correct, because it makes the classroom more 

hierarchical
(2)	 incorrect, because it leads to unnecessary 

competition
(3)	 incorrect, because it can confuse the children 

and they may feel lost
(4)	 correct, because children learn many skills from 

their peers
27.	 A child with hearing impairment:

(1)	 can do very well in a regular school if suitable 
facilitation and resources are provided

(2)	 will never be able to perform on a par with 
classmates in a regular school

(3)	 should be sent only to a school for the hearing 
impaired and not to regular school

(4)	 will not benefit from academic education only 
and should be given vocational training instead

28.	 Which of the following is a characteristic of a gifted 
learner?
(1)	 He is highly temperamental.
(2)	 He engages in ritualistic behaviour like hand 

flapping, rocking etc.
(3)	 He gets aggressive and frustrated.
(4)	 He can feel understimulated and bored if the 

class activities are not challenging enough.
29.	 A teacher can enhance effective learning in her 

elementary classroom by:
(1)	 encouraging competition amongst her students
(2)	 connecting the content to the lives of the 

students
(3)	 offering rewards for small steps in learning
(4)	 drill and practice
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30.	 Which of the following statements about children 
are correct?

	 (i)	 Children are passive recipients of knowledge.
	 (ii)	 Children are problem solvers.
	 (iii)	Children are scientific investigators.
	 (iv)	Children are active explorers of the environment.

(1)	 (i), (ii), (iii) and (iv)	 (2)	 (i), (ii) and (iii)
(3)	 (i), (ii) and (iv)	 (4)	 (ii), (iii) and (iv)

Mathematics

Directions: Answer the following questions by selecting the 
correct/most appropriate options.
31	  A teacher of Class II asks her students to write 4 

ones and 3 tens. Some students write as 43 instead 
of 34. As a teacher, how will you help the students in 
understanding the concept?
(1)	 Give a lot of questions to practise in column 

method.
(2)	 Ask the students to represent on abacus and 

then write.
(3)	 Tell them it is wrong and ask them to write the 

correct answer 5 times.
(4)	 Always teach by column method of tens and 

ones to avoid confusion.
32.	 Which of the following statements is not true about 

‘mapping’ in mathematics?
(1)	 Mapping promotes proportional reasoning.
(2)	 Mapping is not part of mathematics curriculum.
(3)	 Mapping can be integrated in many topics of 

mathematics.
(4)	 Mapping strengthens spatial thinking

33.	 Which of the following aspects of ‘shapes’ is not 
dealt with at primary level?
(1)	 Angle	 (2)	 Symmetry
(3)	 Tessellation	 (4)	 Pattern

34.	 The mathematical games and puzzles help in :
A.	 developing a positive attitude towards 

mathematics
B.	 making connection between mathematics and 

everyday thinking
C.	 making mathematics enjoyable
D.	 promoting problem-solving skills

	 Select the correct option.
(1)	 A, B, C and D	 (2)	 A and B
(3)	 A and D	 (4)	 A, B and C

35.	 A given rectangle and a parallelogram have the same 
area. However, many Class IV students respond 
that the parallelogram has a larger area. How can 
a teacher help the students to understand that their 
areas are the same?
(1)	 Using scale	 (2)	 Using a geoboard
(3)	 Using a graph paper	 (4)	 Using paper folding

36.	 Which of the following is not an objective of 
teaching mathematics at primary level according to 
NCF, 2005?
(1)	 Making mathematics part of child’s life 

experiences
(2)	 Promoting problem-solving and problem-posing 

skills
(3)	 Promoting logical thinking
(4)	 Preparing for learning higher and abstract 

mathematics

37.	 The difference between the place value of 5 in 29503 
and the face value of 7 in 32071 is: 0
(1)	 493	 (2)	 2
(3)	 43	 (4)	 430

38.	 If 30028 = 28 ones + 28 thousands + _____ tens, 
then the number in the blank space is:
(1)	 280	 (2)	 28
(3)	 128	 (4)	 200

39.	 When the remainder obtained on dividing 80808 
by 108 is divided by the remainder obtained on 
dividing 90909 by 109, then the quotient is:
(1)	 12	 (2)	 3
(3)	 6	 (4)	 8

40.	 If 603 × 28 = 63 × 4 × _____, then the number in 
the blank space is :
(1)	 67	 (2)	 21
(3)	 28	 (4)	 63

41.	 (The smallest common multiple of 30, 45 and 60 
between 200 and 400) + (The largest common factor 
of 15, 24 and 45) is equal to :
(1)	 180	 (2)	 60
(3)	 90	 (4)	 120

42.	 A number is smaller than half of one hundred and 
lies between 4 tens and 5 tens. Ones digit is one less 
than tens digit. If the sum of digits is 7, then the 
product of the digits in the number is:
(1)	 24	 (2)	 12
(3)	 16	 (4)	 20

43.	 In a school, there are 360 students out of which two-
thirds are girls and the rest are boys. Three-fourths 
of the number of boys are players. The number of 
boys who are not players is
(1)	 75	 (2)	 25
(3)	 30	 (4)	 60

44.	 Harish bought a  scooter for ` 49,553. He paid ` 8,076 
in cash and agreed to pay the remaining amount in 
37 equal instalments. What is the amount of each 
instalment?
(1)	 1,339	 (2)	 1,021
(3)	 1,121	 (4)	 1,201

45.	 A train left Hyderabad at 13:15 on Friday and reached 
Bengaluru at 07:30 on Saturday. The duration of the 
journey was:
(1)	 19 hours 45 minutes	 (2)	 5 hours 35 minutes
(3)	 12 hours 45 minutes	 (4)	 18 hours 15 minutes

46.	 The number of minutes in 15 days is equal to the 
number of seconds in:
(1)	 8 hours	 (2)	 4 hours
(3)	 5 hours	 (4)	 6 hours

47.	 15 litres 286 millilitres of orange juice is mixed 
with 19 litres 714 millilitres of carrot juice. 12 litres 
750 millilitres of the mixture is used and the rest is 
filled in bottles each containing 250 millilitres. The 
number of bottles is
(1)	 77	 (2)	 89
(3)	 85	 (4)	 81

48.	 The prices of fruits per kg are given below:
	 	 Watermelon	 :	 ` 18.50
	 	 Cherry	 :	 ` 72
	 	 Grape	 :	 ` 120.60
	 	 Apple	 :	 ` 78.40
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	 Reshma bought 4½ kg watermelon, 1 kg 200 g 

cherries, 250 g grapes and 
 
kg apples. She gave a 

500 note to the shopkeeper. How much did she get 
back?
(1)	 173	 (2)	 162
(3)	 163	 (4)	 172

49.	 The size of a soap cake is 7 cm × 5 cm × 2.5 cm. 
The maximum number of soap cakes which can 
be packed into two boxes each having internal 
measurements as 56 cm × 0.4 m × 0.25 m is:
(1)	 2560	 (2)	 640
(3)	 960	 (4)	 1280

50.	 The length of a rectangle is three times its breadth. 
The breadth is half the side of a square whose 
perimeter is 72 cm. Then :
(1)	 the perimeter of the rectangle is less than the 

perimeter of the square
(2)	 the areas of the square and rectangle are equal
(3)	 the area of the rectangle is more than the area of 

the square
(4)	 the perimeters of both rectangle and square are 

equal
51.	 Which one of the following is not correct?

(1)	 The volume of a cuboid of length 45 cm, breadth 
15 cm and height 40 cm is equal to the volume of 
a cube whose side is 0.3 m

(2)	 One hundredth of 10 is equal to 0.1
(3)	 55 litres 55 millilitres = 55.55 litres
(4)	 2005 grams = 2.005 kg

52.	 Which of the following is an essential prerequisite to 
understand multiplication of a two-digit number by 
a one-digit or a two-digit number?
(1)	 Commutative property of multiplication
(2)	 Multiplication as distribution over addition
(3)	 Multiplication as inverse of division
(4)	 Commutative property of addition

53.	 Which of the following cannot be considered as a 
reason for fear and failure in mathematics?
(1)	 Symbolic notations
(2)	 Structure of mathematics
(3)	 Gender differences
(4)	 Classroom experiences

54.	 Which of the following teaching- learning resources 
would be the most appropriate to teach the concept 
of addition of two decimal numbers?
(1)	 Beads and string	 (2)	 Graph paper
(3)	 Abacus	 (4)	 Geoboard

55.	 The majority of Class IV learners think that 
multiplication of two numbers always results in 
a number which is bigger than both the numbers. 
How will you show that it is always not the case?
(1)	 By showing it through repeated addition of 

numbers
(2)	 By showing the multiplication algorithm of two 

decimal numbers
(3)	 By showing on a grid paper the multiplication of 

two decimal numbers
(4)	 By showing the multiplication algorithm of one 

whole number and a fraction on a number line

56.	 Which of the following statements is true in the 
context of teaching ‘measurement’ to primary class 
students?
(1)	 Non-standard measures should be followed by 

standard measures.
(2)	 Only non-standard measures should be used.
(3)	 Non-standard measures should not be used.
(4)	 Standard measures should be followed by non-

standard measures.
57.	 Which of the following assessment strategies can be 

used to make connections of mathematics with real 
life and promote inter- disciplinarity?
(1)	 Survey, project, checklist
(2)	 Field trip, oral test, checklist
(3)	 Field trip, survey, project
(4)	 Field trip, oral test, drill worksheet

58.	 Which of the following can be used as learning 
resources for visually challenged in a mathematics 
classroom?
(1)	 Number chart, computer, geoboard
(2)	 Taylor’s abacus, computer, geoboard
(3)	 Computer, number chart, geoboard
(4)	 Taylor’s abacus, fraction kit, number chart

59.	 In the context of ‘numbers’, primary class children, 
i.e., the children in age group 8-9 years, are able to 
accomplish which one of the following sets?
(1)	 Seriation, reversibility, proportional reasoning
(2)	 Seriation, classification, proportional reasoning
(3)	 Seriation, classification, reversibility
(4)	 Classification, reversibility, proportional 

reasoning
60.	 A teacher of Class I asks a student to count the total 

number of objects in a collection of pens, erasers and 
sharpners. The student puts all the objects in a line 
and starts counting. He says that there are 2 pens, 
5 erasers and 3 sharpners instead of 10 objects. In 
which principle/ principles of counting do you think 
that the student is facing difficulty?
(1)	 Stable order and abstraction principles
(2)	 One-to-one correspondence principle
(3)	 Abstraction principle
(4)	 Abstraction and order irrelevance principles

Environmental Studies

Directions: Answer the following questions (Q. Nos. 61 to 
90) by selecting the correct/most appropriate options.
61.	 In the EVS syllabus, structured around six themes, 

‘plants‘ and ‘animals‘ have consciously been 
included in the theme: ‘Family and Friends‘. All 
of the following could be cited as reasons for this 
inclusion, except one. Which one is that?
(1)	 To help students to locate plants and animals in 

a social and cultural context.
(2)	 To highlight how humans share a close 

relationship with each other.
(3)	 To highlight how lives and livelihoods of some 

communities are closely connected with specific 
animals or plants.

(4)	 To enable students to understand plants and 
animals from a science perspective.
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62.	 The purpose of ‘survey‘ in teaching-learning of EVS 
is:
A.	 to provide an opportunity to interact with 

community
B.	 to make children sensitive to different people
C.	 to provide an opportunity to collect information 

first-hand
D.	 to use it as an opportunity for assessment	

	 Which of the above are correct?
(1)	 A, B, C and D	 (2)	 A, B and C
(3)	 A, B and D	 (4)	 A, C and D

Directions: Q.Nos. 63 to 65 are based on the following 
paragraph.

Given are responses of 7-8 years old children after they 
have observed an experiment done by the teacher, in 
which water in a bowl is heated and it has evaporated:
“Water has disappeared.”
	 “The bowl has absorbed the water”
“The fire drank the water.”
	 “God drank the water.”

63.	 What do these responses tell us about children and 
their thinking?
(1)	 Children’s responses are illogical.
(2)	 Children’s thinking is incorrect.
(3)	 Children cannot make a good observation.
(4)	 Children have alternate ideas about evaporation.

64.	 How should the teacher deal with these responses?
(1)	 Show the standard water cycle chart.
(2)	 Give the definition of evaporation and ask the 

children to memorize it.
(3)	 Initiate a discussion to revisit their ideas.
(4)	 Tell the children that they are wrong.

65.	 Which of the following is an example of a question 
assessing divergent thinking of children on the 
topic, evaporation?
(1)	 What will happen if there is no water cycle?
(2)	 List the steps in sequence of water cycle.
(3)	 Draw and label water cycle.
(4)	 Write five advantages of water cycle.

66.	 Which of the following are the neighbouring states 
of Jammu & Kashmir?
(1)	 Himachal Pradesh, Punjab
(2)	 Himachal Pradesh, Uttar Pradesh
(3)	 Uttarakhand, Rajasthan
(4)	 Himachal Pradesh, Uttarakhand

67.	 Match each of the locations with correct description 
of common houses built in that area:

Locations Houses

(a)	 Manali (i)	 Elevated houses made on 
bamboo pillars

(b)	 Rajasthan (ii)	 Houses made of stones/
wood with slanting roofs

(c)	 Assam (iii)	 Houseboats

(d)	 Ladakh (iv)	 Mud houses having roofs 
made of thorny bushes

(v)	 Houses made of stones with 
wooden floor and wooden 
ceiling

	 a	 b	 c	 d
(1)	 ii	 v	 i	 iv
(2)	 ii	 iv	 i	 v
(3)	 iii	 iv	 i	 v
(4)	 iv	 i	 ii	 iii

68.	 The different patterns on the skin of animals are:
(1)	 an indication of their physical strength
(2)	 due to the reflected light
(3)	 due to the hair on their skin
(4)	 due to the weather conditions they live in

69.	 “People who have been living in the forest for at 
least 25 years have a right to the forestland and 
what is grown on it.“ This is mandated by:
(1)	 the Indian Forest Act, 1927
(2)	 the Right to Forest Act, 2007
(3)	 the Land Acquisition Act, 1894
(4)	 the Constitution (Scheduled Castes) Orders 

(Amendment) Bill, 2012
70.	 Which of the following is a set of diseases spread by 

mosquitoes?
(1)	 Malaria, HIV-AIDS, Dengue
(2)	 HIV-AIDS, Cholera, Dengue
(3)	 Dengue, Malaria, Chikungunya
(4)	 Typhoid, Cholera, Chikungunya

71.	 Pitcher plant (Nepenthes):
(1)	 is not found in India
(2)	 cleverly traps and eats frogs, insects and mice
(3)	 emits sounds of high pitch to attract insects
(4)	 has mouth covered with tiny hooks

72.	 Which of the following sets of eatables is rich in 
iron?
(1)	 Amla, Spinach, Potato
(2)	 Amla, Potato, Tomato
(3)	 Cabbage, Okra, Jaggery
(4)	 Amla, Spinach, Jaggery

73.	 Almost in every part of our country, chillies are 
added while cooking food. Chillies were brought to 
our country by the traders who came from:
(1)	 South America	 (2)	 Afghanistan
(3)	 Australia	 (4)	 Uzbekistan

74.	 Which of the following birds makes its nest among 
the thorns of a cactus plant?
(1)	 Weaverbird	 (2)	 Robin bird
(3)	 Dove	 (4)	 Sunbird

75.	 Read the following description of an animal and 
identify it:

	 “It looks like a bear but it is not. It spends almost 
17 hours a day sleeping while hanging upside down 
on a tree branch. It eats the leaves of the same tree 
on which it lives. It lives for about 40 years.“
(1)	 Chimpanzee	 (2)	 Panda
(3)	 Sloth	 (4)	 Langur

76.	 Which of the following groups of animals has 
excellent sight and can see things four times more 
than humans?
(1)	 Snakes, Silkworms, Lizards
(2)	 Kites, Eagles, Vultures
(3)	 Bees, Mosquitoes, Butterflies
(4)	 Tigers, Leopards, Bulls
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77.	 Read the given description of farming and identify 
its type:

	 “After cutting one crop, the land is left as it is for 
some years. Nothing is grow there. The bamboos 
or weeds which grow on that land are not pulled 
out. They are cut and burnt. The ash makes the 
land fertile. When the land is ready for farming it is 
lightly dug up, not ploughed. Seeds are dropped on 
it.“
(1)	 Jhoom farming	 (2)	 Step farming
(3)	 Irrigation farming	 (4)	 Cooperative farming

78.	 When a snake charmer plays on his musical 
instrument. Been, the snake swings its head to and 
fro to its sound. How do you think the snake responds 
to the musical instrument?
(1)	 By smelling the instrument.
(2)	 By hearing the sound produced by the 

instrument.
(3)	 By seeing the movement of the instrument.
(4)	 By responding to the vibrations produced by the 

instrument
79.	 “A family is a unit consisting of mother, father and 

their two children.“ This statement is:
(1)	 incorrect, because there are many kinds of 

families and one cannot classify family as being 
of only one kind

(2)	 correct, since this is an ideal family size
(3)	 correct, because this is what all Indian families 

are like
(4)	 incorrect, because the statement should specify 

that the children are biological
80.	 The gastric juice in the stomach of human beings is 

__________ and aids in the digestion of food.
(1)	 neutral	 (2)	 acidic
(3)	 alkaline	 (4)	 amphoteric

81.	 A teacher of class III had asked children to classify 
the leaves of the following trees/plants into different 
groups–lemon, mango, basil, mint, neem, banana, 
etc. Some students classified leaves as (a) leaves 
with medicinal values and leaves without medicinal 
values, (b) big leaves and small leaves. The teacher 
marked group (a) as right and group (b) as wrong.

	 Which of the following statements reflects the 
teacher’s view of learning and assessment?
(1)	 Children bring multiple perspectives in classroom 

which is to be appreciated.
(2)	 Children can use multiple ways of classification 

depending upon their experiences.
(3)	 Classification task is very specific and structured 

and there is one right answer.
(4)	 The activity is focussed to seek information from 

leaves which can be interpreted differently.
82.	 Which among the following considerations would 

you keep in mind while designing a group activity 
in your EVS class?
A.	 Engage the interests of the children.
B.	 Appeal equally to boys and girls.
C.	 Use expensive material.
D.	 Appeal to children of all religious and cultural 

backgrounds.
(1)	 A, B and D	 (2)	 A, C and D
(3)	 B and D	 (4)	 B and C

83.	 All of the following statements provide arguments 
in favour of teachers and students of collectively 
engage in group activities in EVS, except one. Which 
is that statement?
(1)	 Children learn more by talking and discussing 

with other children.
(2)	 Children show marked improvement in scores 

because of group activities.
(3)	 Adult support can help children construct 

knowledge beyond their ability.
(4)	 Children learn to collaborate and cooperate.

84.	 Which of the following tools will be appropriate 
for assessing social personal qualities of children 
engaged in learning EVS through group work?
(1)	 Paper-pencil tests	 (2)	 Oral questions
(3)	 Rating scales	 (4)	 Assignments

85.	 Following are some intuitive ideas of children about 
plants. Which of them is scientifically correct?
(1)	 Seeds are not parts of a plant.
(2)	 Carrot and cabbage are not plants.
(3)	 Grass is not a plant.
(4)	 Some vegetables are fruits.

86.	 A teacher of Class IV told her students–”Ask some 
old people if there were plants they had seen when 
they were young but are not seen these days.”

	 Which of the following skills is not likely to be 
assessed by asking this question?
(1)	 Questioning	 (2)	 Expression
(3)	 Experimentation	 (4)	 Discussion

87.	 A teacher asks every child to use some waste material 
from their homes and make something useful out of 
it.

	 The pedagogical intention of the teacher is not to:
(1)	 judge the best student of the class
(2)	 develop creativity among children
(3)	 make children understand the concept of recycle, 

reuse and reduce
(4)	 organize an exhibition of best articles made out 

of waste
88.	 Read the following questions:

A.	 How well did I plan for the activity?
B.	 How well did I follow the plan?
C.	 What were my strengths?
D.	 What exactly did I find difficult?

	 Answers to the above four types of questions will 
comprise:
(1)	 summative assessment by the teacher
(2)	 children’s self-assessment
(3)	 teachers self-assessment
(4)	 self-assessment of children and teachers both

89.	 The language used in an EVS textbook:
(1)	 should be technical and formal
(2)	 should be related to everyday language of the 

child
(3)	 should be terse and difficult for children to 

comprehend
(4)	 should be formalized with emphasis on 

definitions
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90.	 A teacher gives pictures of different animals to his 
students and asks them to colour the animals that do 
not live in their houses. The objective of this activity 
is to develop:
A.	 creativity	 B.	 observation
C.	 classification skill	 D.	 data collection

	 Which of the above are correct?
(1)	 A, C and D	 (2)	 A, B and C
(3)	 A, B and D	 (4)	 B, C and D

Language: English

Directions: Answer the following questions (Q. Nos. 91 to 
105) by selecting the correct/most appropriate options.
91.	 Home language is __________ in a natural way.

(1)	 promoted	 (2)	 acquired
(3)	 learnt	 (4)	 taught

92.	 Which of the following is not true while teaching the   
learners in their mother tongue at primary level?
(1)	 It helps children in learning in a natural 

environment.
(2)	 It develops self-confidence in the child.
(3)	 It makes learning easy.
(4)	 It is helpful in the intellectual development of 

the child.
93.	 Communicative language teaching lays emphasis 

on:
(1)	 grammatical competency
(2)	 language use
(3)	 form
(4)	 writing

94.	 Ria, a teacher of Class II, is presenting language items 
in her instructions and the learners are doing exactly 
as she is telling them to do. What is she practising?
(1)	 Total physical response.
(2)	 Direct method.
(3)	 Audio-lingual method.
(4)	 Communicative language method.

95.	 While teaching language to learners, a teacher should 
teach:
(1)	 by giving instructions
(2)	 through imitation
(3)	 in isolation
(4)	 in an integrated manner

96.	 An intonation may not be a __________ tone.
(1)	 sliding	 (2)	 rising
(3)	 falling	 (4)	 loud

97.	 Functional grammar stands for using/teaching 
grammar in/through:
(1)	 explanation of literary content
(2)	 context
(3)	 isolation
(4)	 parsing

98.	 A teacher asks the learners to think of ideas quickly 
about the topic: ‘Save Water‘ and also asks them to 
note down their ideas before writing the article on 
‘Save water‘. She is focussing on:
(1)	 brainstorming	 (2)	 assessment
(3)	 checklist	 (4)	 drill

99.	 Which of the following is not  a form of literature?
(1)	 One-Act Play	 (2)	 Dictionary
(3)	 Memoir	 (4)	 Travelogue

100.	Assessment is:
(1)	 judgemental
(2)	 product-oriented
(3)	 process-oriented
(4)	 both process and product oriented

101.	Which of the following is not formative assessment?
(1)	 Term-end assessment	 (2)	 Anecdotal records
(3)	 Portfolios	 (4)	 Oral testing

102.	A teacher asks the students to assess their classmates 
during a debate competition in the class.

	 This method of assessment is:
(1)	 individual assessment	(2)	 peer assessment
(3)	 self-assessment	 (4)	 group assessment

103.	Match the following:

Types of 
assessment

Meaning

(a)	 Assessment 
of learning

(i)	 It is used during the process 
of learning and teaching

(b)	 Assessment 
for learning

(ii)	 It is used when students 
reflect on and monitor

(c)	 Assessment 
as learning

(iii)	 It is used towards and at 
the end of the instruction 
period.

	 a	 b	 c
(1)	 iii	 i	 ii
(2)	 ii	 i	 iii
(3)	 i		 iii	 ii
(4)	 iii	 ii	 i

104.	Which of the following is not appropriate about 
language games?
(1)	 Language games create a stress-free and natural 

environment where learners can learn English, 
the way they learnt L 1.

(2)	 Language games create an environment even for 
the shy learners to participate.

(3)	 Language games provide competitive 
environment to the learners to win the game by 
any means.

(4)	 Language games create a real world context in 
the classroom and enhance the usage of English.

105.	Remedial teaching is for:
(1)	 improving the image of the school
(2)	 the learner to learn better
(3)	 the learner to learn better and the teacher to 

improve his/her teaching
(4)	 the teacher to teach better

Directions: Read the passage given below and answer the 
following questions (Q. Nos. 106 to 114) by selecting the 
correct/most appropriate options.

The Mahatma's remarkable wife, Kasturbabai, did not object 
when he failed to set aside any part of his wealth for the 
use of herself and their children. Married in early youth, 
Gandhi and his wife took the vow of celibacy after the birth 
of several sons. A tranquil heroine in the intense drama 
that has been their life together, Kasturbabai has followed 
her husband to prison, shared his three-week fasts, and 
fully borne her share of his endless responsibilities. She has 
paid Gandhi the following tribute :
I thank you for having had the privilege of being your 
lifelong companion and helpmate. I thank you for the most 
perfect marriage in the world, based on Brahmacharya (self-
control) and not on sex. I thank you for having considered 
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me your equal in your lifework for India. I thank you for 
not being one of those husbands who spend their time in 
gambling, racing, women, wine, and song, tiring of their 
wives and children as the little boy quickly tires of his 
childhood toys. How thankful I am that you were not one 
of those husbands who devote their time to growing rich 
on the exploitation of the labor of others.
How thankful I am that you put God and country before 
bribes, that you had the courage of your convictions and 
a complete and implicit faith in God. How thankful I am 
for a husband that put God and his country before me. 
I am grateful to you for your tolerance of me and my 
shortcomings of youth, when I grumbled and rebelled 
against the change you made in our mode of living, from 
so much to so little.
As a young child, I lived in your parents' home; your 
mother was a great and good woman; she trained me, 
taught me how to be a brave, courageous wife and how to 
keep the love and respect of her son, my future husband. 
As the years passed and you became India's most beloved 
leader, I had none of the fears that beset the wife who may 
be cast aside when her husband has climbed the ladder of 
success, as so often happens in other countries. I knew that 
death would still find us husband and wife.

106.	How did Kasturbabai react to Gandhiji’s will?
(1)	 She felt quite unhappy.
(2)	 She was astonished.
(3)	 She accepted his decision without arguing.
(4)	 She decided to discuss the matter with her 

parents.
107.	Kasturbabai impressed the author most because she:

(1)	 was an embodiment of humility
(2)	 never questioned her husband’s decisions
(3)	 was at his beck and call
(4)	 stood by him through trying times

108.	Husbands given to vices made Kasturbabai feel:
(1)	 disgusted	 (2)	 furious
(3)	 unhappy	 (4)	 sad

109.	Kasturbabai’s relationship with her mother-in-law 
can be described as:
(1)	 respectful	 (2)	 formal
(3)	 conventional	 (4)	 informal

110.	The author’s attitude to Kasturbabai is:
(1)	 sympathetic	 (2)	 commendatory
(3)	 neutral	 (4)	 ambivalent

111.	The word ‘tranquil‘ as used in the passage means:
(1)	 loyal	 (2)	 sober
(3)	 gentle	 (4)	 calm

112.	The word opposite in meaning to ‘lifelong‘ is:
(1)	 weak	 (2)	 ardent
(3)	 temporary	 (4)	 brief

113.	Which part of speech is the underlined word in the 
following sentence?

	 “..... any part of his wealth.“
(1)	 Conjunction	 (2)	 Adjective
(3)	 Adverb	 (4)	 Noun

114.	The sentence, “Some husbands spend their time 
in gambling“ when changed into passive voice 
becomes:
(1)	 Some husbands whose time was spent in 

gambling.
(2)	 Some husbands spent their time in gambling.
(3)	 Time is spent in gambling by some husbands.
(4)	 Some husbands whose time is spent in gambling.

Directions: Read the passage given below and answer the 
following questions (Q. Nos. 115 to 120) by selecting the 
correct/most appropriate options.

I cannot rest from travel: I will drink
Life to the lees: All times I have enjoy'd
Greatly, have suffer'd greatly both with those
That loved me, and alone, on shore, and when
Thro' scudding drifts the rainy Hyades
Vext the dim sea: I am become a name;
For always roaming with a hungry heart
Much have I seen and known; cities of men
And manners, climates, councils, governments,
Myself not least, but honour'd of them all;

115.	The speaker can be described as:
(1)	 a frolicsome person
(2)	 a vagabond
(3)	 a seeker after the truth
(4)	 an adventurer

116.	The expression, ‘drink life to the lees‘ means:
(1)	 to live life to the fullest
(2)	 to live a life of pleasure
(3)	 to face challenges bravely
(4)	 to live a life of adventure

117.	Which of the following statements is true?
(1)	 He has lost interest in life.
(2)	 The speaker is an aimless wanderer.
(3)	 His adventures have not changed his outlook.
(4)	 He has suffered and enjoyed greatly.

118.	The line, “Myself not least, but honour’d of them all“ 
reveals that the speaker is:
(1)	 arrogant	 (2)	 prone to bragging
(3)	 a garrulous person	 (4)	 conscious of his merits

119.	The figure of speech used in ‘drink life to the lees‘ is:
(1)	 assonance	 (2)	 simile
(3)	 metaphor	 (4)	 personification

120.	Which literary device has been used in ‘hungry 
heart‘?
(1)	 Irony	 (2)	 Assonance
(3)	 Simile	 (4)	 Alliteration

Language: Hindi

funsZ'k (121-135): uhps fn, x, ç'uksa ds lgh@lcls mi;qä mÙkj 
okys fodYi pqfu,µ

121.	iwjh ikB~;p;kZ esa --------- esa Hkk"kk dh Hkwfedk dks vuns[kk ugha fd;k 
tk ldrkA
(1)	 Kku&fuekZ.k	 (2)	 O;kdj.k&fuekZ.k
(3)	 vkdyu&fuekZ.k	 (4)	 ewY;&fuekZ.k

122.	çkFkfed d{kkvksa ds Hkk"kk&f'k{kd gksus ds ukrs vkidh lokZf/kd 
egRoiw.kZ Hkwfedk gSµ
(1)	 cPpksa dks okn&fookn ds fy, rS;kj djukA
(2)	 fo|kfFkZ;ksa dks lokZf/kd vad çkIr djus ds fy, rS;kj djukA
(3)	 d{kk esa ikB~;&iqLrd dk vPNh rjg ls fuokZg djukA
(4)	 cPpksa dh Hkk"kkbZ {kerk ds fodkl ds fy, rjg&rjg ds 

volj tqVkukA

123.	nwljh d{kk esa i<+us okyk jksfgr fgUnh dh d{kk esa viuh ekr`Hkk"kk 
esa ckr djrk gSA vki D;k djsaxs\
(1)	 ckdh cPpksa ls mldh Hkk"kk lh[kus ds fy, dgsaxsA
(2)	 mls Mk¡Vsaxs fd og d{kk esa ekr`Hkk"kk dk ç;ksx u djsA
(3)	 mls fcYdqy vuns[kk dj i<+krs jgsaxsA
(4)	 mldh Hkk"kk dks le>us dh dksf'k'k djsaxsA
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124.	^i<+uk* lh[kus ds fy, dkSu&lk midkS'ky vfuok;Z ugha gS\
(1)	 o.kZekyk ;kn djus dk dkS'ky
(2)	 vuqeku yxkus dk dkS'ky
(3)	 Hkk"kk dh lajpuk dh le>
(4)	 HkkoukRed laca/k

125.	f}Hkkf"kd cPps ----------- fodkl] lkekftd lfg".kqrk vkSj --------- 
fpUru esa vis{kkÏr csgrj gksrs gSaA
(1)	 laKkukRed] foLr`r	 (2)	 lafØ;kRed] lhfer
(3)	 lafØ;kRed] dsafær	 (4)	 laKkukRed] lhfer

126.	fuEufyf[kr esa ls fdlds vHkko esa ge i<+ ugha ldrs\
(1)	 ckjg[kM+h ls ifjp;	
(2)	 o.kZekyk dh Øec¼rk dk Kku
(3)	 la;qDrk{kjksa dh igpku
(4)	 fyfi ls ifjp;

127.	Hkk"kk vkSj fopkj ds laca/kksa dh ppkZ esa vxz.kh gSaµ
(1)	 fLduj	 (2)	 pkWELdh
(3)	 okbxksRLdh	 (4)	 fi;kts

128.	fl¼kFkZ dh ek¡ us vius ifjokj ds lnL;ksa ls vuqjks/k fd;k gS 
fd os ?kj esa ,d gh Hkk"kk dk ç;ksx djsa] ftlls fd fl¼kFkZ dk 
Hkk"kkbZ fodkl Bhd ls gks ldsA muds ckjs esa vki D;k dgsaxs\
(1)	 og fl¼kFkZ ds Hkkf"kd ifjos'k esa fdlh çdkj dk vojks/k ugha 

pkgrhaA
(2)	 og fl¼kFkZ ds Hkk"kkbZ fodkl ds fy, fo'ks"k ç;Ru dj jgh gSaA
(3)	 og Hkk"kk&vtZu ds fl¼kUrksa dh xgjh le> j[krh gSaA
(4)	 og fl¼kFkZ dks le`¼ Hkkf"kd ifjos'k ls oafpr dj jgh gSaA

129.	çkFkfed Lrj ij Hkk"kk&f'k{k.k ds lanHkZ esa lokZf/kd egRoiw.kZ gS 
fd cPpsµ
(1)	 fy[kh@Nih lkexzh dks cksy&cksydj i<+ ldsaA
(2)	 v{kjksa dks tksM+&tksM+dj i<+ ldsaA
(3)	 'kCnksa dks tksM+&tksM+dj okD; i<+ ldsaA
(4)	 fy[kh@Nih lkexzh dk vFkZ le> ldsaA

130.	çkFkfed Lrj ij ys[ku {kerk ds lanHkZ esa lokZf/kd egRoiw.kZ gSµ
(1)	 ekSfyd fopkj	 (2)	 Jqrys[k
(3)	 lqys[k	 (4)	 orZuh

131.	fuEufyf[kr esa ls dkSu&lh xfrfof/k Jo.k ,oa okpu dkS'kyksa ds 
fodkl ds fy, lokZf/kd mi;qDr gksxh\
(1)	 dgkuh lqukdj ml ij cPpksa dh çfrfØ;k tkuukA
(2)	 gkoHkko ds lkFk dfork cqyokukA
(3)	 ç'uksÙkj l= vk;ksftr djukA
(4)	 jsfM;ks lekpkj lqukukA

132.	ok.kh --------------- gksrh gS vkSj fyf[kr Hkk"kk dh rqyuk esa dkQh 
rsth ls cnyrh jgrh gSA
(1)	 fLFkj	 (2)	 vLFkk;h
(3)	 LFkk;h	 (4)	 xkS.k

133.	^cgqHkk"kh d{kk* ls rkRi;Z gSµ
(1)	 ftl d{kk esa çR;sd cPps ds ?kj dh cksyh dks lEeku fn;k 

tkrk gksA
(2)	 tgk¡ cgqr&lh Hkk"kkvksa dk v/;kiu fd;k tkrk gSA
(3)	 ftl d{kk ds f'k{kd@f'kf{kdk nks ;k nks ls vf/kd Hkk"kk,¡ 

i<+&fy[k ldrs gksaA
(4)	 ftl d{kk esa de&ls&de nks Hkk"kkvksa esa ikB~;&iqLrd 

miyC/k gksA

134.	laKku ds Lrj ij fodflr ---------- vU; Hkk"kkvksa esa vklkuh ls 
vuwfnr gksrh jgrh gSA
(1)	 O;kdj.k {kerk	 (2)	 rdZ {kerk
(3)	 Hkk"kk {kerk	 (4)	 Kku {kerk

135.	Hkk"kk&f'k{k.k dks ---------- lanHkZ esa j[kdj ns[kus dh vko';drk 
gSA
(1)	 lkaLÏfrd	 (2)	 uSfrd
(3)	 cgqHkk"kh	 (4)	 vkfFkZd

funsZ'k (136-141): uhps fn, x, x|ka'k dks i<+dj iwNs x, ç'uksa ds 
lgh@lcls mi;qä mÙkj okys fodYi dks pqfu,µ

y?kq m|ksx mu m|ksxksa dks dgk tkrk gS ftuds lekjEHk ,oa vk;kstu 
ds fy, Hkkjh&Hkjde lk/kuksa dh vko';drk ugha iM+rhA os FkksM+s&ls 
LFkku] FkksM+h iw¡th vkSj vYi lk/kuksa ls gh vkjEHk fd, tk ldrs gSaA 
fQj Hkh muls lqfu;ksftr <ax ls vf/kdkf/kd ykHk çkIr djds ns'k dh 
fu/kkZurk] xjhch vkSj fo"kerkvksa ls ,d lhek rd yM+k tk ldrk gSA 
vius vkdkj&çdkj rFkk lk/kuksa dh y?kqrk o vYirk ds dkj.k gh bl 
çdkj ds m|ksx&/ka/kksa dks dqVhj&m|ksx Hkh dgk tkrk gSA bl çdkj 
ds m|ksx&/ka/ks vius ?kj esa Hkh vkjEHk fd, tk ldrs gSa vkSj vius 
lhfer lk/kuksa dk lnqi;ksx djds vkfFkZd ykHk dek;k tk ldrk gS 
vkSj lq[kh&le`¼ cuk tk ldrk gSA Hkkjr tSls ns'k ds fy, rks bl 
çdkj ds y?kq m|ksxksa dk egRo vkSj Hkh c<+ tkrk gS D;ksafd ;gk¡ ;qokvksa 
dh ,d cgqr cM+h la[;k csjkstxkj gSA blh dkj.k egkRek xka/kh us 
e'khuhdj.k dk fojks/k fd;k FkkA mudh ;g Li"V /kkj.kk Fkh fd y?kq 
m|ksxkas dks çJ; nsus ls yksx LokoyEch cusaxs] etnwj&fdlku Qlyksa 
dh cqvkbZ&dVkbZ ls QqlZr ikdj vius [kkyh le; dk lnqi;ksx Hkh 
djsaxsA bl çdkj vkfFkZd le`f¼ rks c<+sxh gh] lkFk gh yksxksa dks vius 
?kj ds ikl jkstxkj fey ldsxkA
136.	mu m|ksxksa dks y?kq m|ksx dgk tkrk gSµ

(1)	 ftuls vYi ykHk feyrk gSA
(2)	 tks vYi vof/k rd pyrs gSaA
(3)	 tks de lk/kuksa ls 'kq: fd, tk ldrs gSaA
(4)	 ftUgsa fu/kZu O;fDr vk;ksftr djrs gSaA

137.	^e'khuhdj.k* ls rkRi;Z gSµ
(1)	 e'khuksa dk vf/kdkf/kd fuekZ.k
(2)	 e'khuksa dh vf/kdkf/kd miyC/krk
(3)	 e'khuksa dh vf/kdkf/kd [kjhn
(4)	 e'khuksa dk vf/kdkf/kd mi;ksx

138.	y?kq m|ksxksa dks çJ; nsus ds lanHkZ esa xka/khth dh D;k /kkj.kk Fkh\
(1)	 e'khuhdj.k dk fojks/k fd;k tk ldsA
(2)	 yksxksa dks vkfFkZd :i ls vkRefuHkZj cuk;k tk ldsA
(3)	 le; dk lnqi;ksx fd;k tk ldsA
(4)	 fdlkuksa dks cqvkbZ&dVkbZ ls QqlZr fey ldsA

139.	Hkkjr tSls ns'k ds fy, y?kq m|ksx&/ka/kksa dk egRo D;ksa c<+ tkrk 
gS\
(1)	 D;ksafd ;gk¡ ds ;qok oxZ dks e'khuksa ij dke djuk ugha vkrkA
(2)	 D;ksafd ;gk¡ de iw¡th okys yksx vf/kd la[;k esa gSaA
(3)	 D;ksafd ;gk¡ cgqr&ls yksxksa dks dke dh t:jr gSA
(4)	 D;ksafd ;gk¡ e'khuksa dh miyC/krk cgqr de gSA

140.	^fo"kerk* dk foijhrkFkhZ gSµ
(1)	 lekurk	 (2)	 vlekurk
(3)	 çfrdwyrk	 (4)	 lkekU;r%
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141.	^le`¼* 'kCn esa Hkko gSµ
(1)	 jkstxkj ikus dk	 (2)	 [kq'kgky gksus dk
(3)	 /kuh gksus dk	 (4)	 leFkZ gksus dk

142.	^vYirk* 'kCn gS\
(1)	 ns'kt	 (2)	 fons'kh
(3)	 rn~Hko	 (4)	 rRle

143.	dkSu&lk 'kCn&;qXe 'ks"k ls fHkUu gS\
(1)	 i'kq&i{kh	 (2)	 ekrk&firk
(3)	 fnu&jkr	 (4)	 Hkkjh&Hkjde

144.	x|ka'k ds vuqlkj ^çJ;* 'kCn dk Hkko gSµ
(1)	 vuqeksnu djuk	 (2)	 LohÏfr nsuk
(3)	 laj{k.k nsuk	 (4)	 fu;qfDr djuk

funsZ'k (145-150): uhps fn, x, i|ka'k dks i<+dj iwNs x, ç'uksa ds 
lgh@lcls mi;qä mÙkj okys fodYi dks pqfu,µ

gok pys vuqdwy rks ukosa ukSflf[k, Hkh [ks ysrs gSa]
lgt Mxj ij y¡xM+s Hkh py cSlk[kh ls ysrs gSaA
feV tkrs tks nhi Lo;a jks'ku dj yk[k fpjkxksa dks 
ueu mUgsa gS] tks ykVk ykrs gSa xbZ cgkjksa dksA
QSykdj ds gkFk fdlh ds lEeq[k >qduk vklk¡ gS]
cgrh ufn;k ls ikuh ih I;kl cq>kuk vklk¡ gS]
fuR; [kksndj u, dq,¡ tks lcdh I;kl cq>krs gSa]
ogh yksx gSa tks lfn;ksa rd tx esa iwts tkrs gSaA
145.	dfo mUgsa ueu dj jgk gS tksµ

(1)	 yk[kksa nhid tykrs gSaA	
(2)	 ygjksa ij uko pyk ysrs gSaA
(3)	 ljy ekxks± ij pyrs gSaA	
(4)	 nwljksa dks çsj.kk nsdj ejrs gSaA

146.	dfork esa ^cSlk[kh* dk HkkokFkZ gSµ
(1)	 lgkjk	 (2)	 lh<+h
(3)	 ,d Qly	 (4)	 ,d eghuk

147.	^ikuh ih I;kl cq>kuk vklk¡ gS*µesa vyadkj gSµ
(1)	 ekuohdj.k	 (2)	 miek
(3)	 :id	 (4)	 vuqçkl

148.	lekt mUgsa lnk lEekfur djrk gS] tksµ
(1)	 vius dkeksa ls lcdk fgr djrs gSaA
(2)	 lfn;ksa rd iwts tkrs gSaA
(3)	 fuR; u, dq,¡ [kksnrs gSaA
(4)	 I;kls dks ikuh fiykrs gSaA

149.	dfo ds vuqlkj mudk thou vklku ugha gS] tksµ
(1)	 cSlk[kh ds lgkjs pyrs gSaA
(2)	 ifjJe ls chrh cgkjksa dks ykSVk ykrs gSaA
(3)	 Lo;a vius gh fy, lk/ku tqVkrs gSaA
(4)	 yksxksa ds lkeus gkFk QSykrs gSaA

150.	^ukSflf[k;k* gSµ
(1)	 u, fo"k; i<+us okyk
(2)	 u;k fl[kkus okyk
(3)	 u;k lh[kus okyk
(4)	 ukS fo"k; tkuus okyk
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	 31.	 (2)	 32.	 (2)	 33.	 (1)	 34.	 (1)	 35.	 (3)
	 36.	 (4)	 37.	 (1)	 38.	 (4)	 39.	 (4)	 40.	 (1)
	 41.	 (4)	 42.	 (2)	 43.	 (3)	 44.	 (3)	 45.	 (4)
	 46.	 (4)	 47.	 (2)	 48.	 (3)	 49.	 (4)	 50.	 (4) 
	 51.	 (3)	 52.	 (2)	 53.	 (3)	 54.	 (2)	 55.	 (3)
	 56.	 (1)	 57.	 (3)	 58.	 (2)	 59.	 (3)	 60.	 (4)

Environmental Studies

	 61.	 (4)	 62.	 (1)	 63.	 (4)	 64.	 (3)	 65.	 (1)
	 66.	 (1)	 67.	 (2)	 68.	 (3)	 69.	 (2)	 70.	 (3)
	 71.	 (2)	 72.	 (4)	 73.	 (1)	 74.	 (3)	 75.	 (3)
	 76.	 (2)	 77.	 (1)	 78.	 (4)	 79.	 (1)	 80.	 (2)
	 81.	 (3)	 82.	 (1)	 83.	 (2)	 84.	 (4)	 85.	 (4)
	 86.	 (3)	 87.	 (1)	 88.	 (4)	 89.	 (2)	 90.	 (2)

Langauge: English

	 91.	 (2)	 92.	 (4)	 93.	 (2)	 94.	 (1)	 95.	 (4)
	 96.	 (4)	 97.	 (2)	 98.	 (1)	 99.	 (2)	 100.	 (4)
	 101.	 (1)	 102.	 (2)	 103.	 (1)	 104.	 (3)	 105.	 (3)
	 106.	 (3)	 107.	 (4)	 108.	 (3)	 109.	 (1)	 110.	 (2)
	 111.	 (4)	 112.	 (3)	 113.	 (4)	 114.	 (3)	 115.	 (4)
	 116.	 (1)	 117.	 (4)	 118.	 (4)	 119.	 (3)	 120.	 (4)

Langauge: Hindi

	 121.	 (1)	 122.	 (4)	 123.	 (4)	 124.	 (1)	 125.	 (1)
	 126.	 (4)	 127.	 (3)	 128.	 (4)	 129.	 (4)	 130.	 (1)
	 131.	 (1)	 132.	 (2)	 133.	 (1)	 134.	 (3)	 135.	 (3)
	 136.	 (3)	 137.	 (4)	 138.	 (2)	 139.	 (3)	 140.	 (1)
	 141.	 (2)	 142.	 (4)	 143.	 (4)	 144.	 (3)	 145.	 (4)
	 146.	 (1)	 147.	 (4)	 148.	 (1)	 149.	 (2)	 150.	 (3)
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Child Development and 
Pedagogy

1.	 Option (1) is correct.
Explanation: Concept Development 
focuses on teaching strategies to 
promote children's higher-order 
thinking skills and cognition. 
It is not rote memorization.
Instead, it is the method a teacher 
uses to get children to think about 
the how and why of learning.
Taking maximum number of 
examples can help students 
understand the concepts easily. 
Helpful for the representation of 
concepts in many ways.
Hence, a teacher can use multiple 
examples and encourage the use of 
reasoning by the learners.

2.	 Option (3) is correct.
Explanation: Primary school 
children learn most effectively in an 
emotionally satisfying atmosphere 
and feel valued. 
Inclusiveness means all students are 
equal participants in the learning 
process, even with disabilities, 
based on the belief that those with 
disabilities should not depend on 
specialized services alone to benefit 
from educational resources, activities 
and practices that are otherwise 
available to all.
A teacher should treat students 
equally; and recognize that 
disadvantaged students can 
perform at the same standard as 
their advantaged counterparts and 
have the potential to progress to 
university.
A teacher should continue to 
teach and make an effort to 
improve children's involvement by 
encouraging them through teaching 
by different methods and making 
them more inclusive and comfortable 
so that they feel open to participate. 
Thus, a teacher would reflect on her 
teaching and find ways to improve 
student involvement.

3.	 Option (1) is correct.
Explanation: From the options, The 
concepts provide an efficient way of 
organizing experience, particularly 
in early childhood and the primary 
stage.
When a child sees a dog or a crow 
and identifies it as an animal or 
a bird, it shows that the child has 

developed a concept about the 
animal kingdom.
After this, if the child sees such an 
animal, he understands it to be a 
dog or a crow.
Hence, The option (i), (ii) and (iii) is 
correct.

4.	 Option (2) is correct.
Explanation: Intrinsic motivation is 
an inner feeling where an internal 
desire drives a person's behaviour.
It creates more sustained interest, 
excitement, confidence, persistence, 
self-esteem, and performance. 
To foster intrinsic motivation in 
students:
n	Empower students with a feeling 

of conscious choice. 
n	Set a greater goal. 
n	Reinvent the system of rewards. 
n	Forget negative motivation. 
n	Enhance learners' self-esteem. 
n	Offer constructive and 

informative feedback. 
n	Promote collaboration.
In the given statement ‘’Try to do 
it, you will learn’’ teacher is tying 
to motivate the students to enhance 
their skills or capability so that, they 
would learn better.
Hence, to motivate a student, a 
teacher should encourage them by 
telling them to do a task to learn.

5.	 Option (1) is correct.
Explanation: Students are 
intrinsically motivated when they 
have an internal desire to engage 
in learning. Their performance is 
not induced by rewards or fear of 
punishment but rather by personal 
enjoyment, interest or pleasure.
Hence, a teacher should empower 
students with a feeling of conscious 
choice to set individual goals and 
enhance learners' self-esteem. 

6.	 Option (3) is correct.
The teaching method in an 
elementary classroom should be 
based on exploration and experience, 
where teachers can act as facilitators 
and help students explore their 
physical, mental, moral, and social 
growth. The teacher can motivate 
learning by creating curiosity in the 
children with their involvement in 
small groups debating, custom-made 
activities, and learning stations to 
create learning.
Hence, the teacher should cultivate 
curiosity in a learner so that he 
learns for the sake of learning.

7.	 Option (1) is correct.
Explanation: To achieve effective 
teaching, a school should adopt 
individualized learning and a 
child-centered pedagogy enabling 
children to express their ideas freely 
and willingly and giving primacy 
to children's voices and active 
participation.
Children take responsibility for 
their choice of learning to learn 
and explore. Teachers attentively 
listen for cues and observe the 
development of children's interests 
to design an appropriate curriculum 
for each individual.

8.	 Option (1) is correct.
Explanation: Cephalocaudal means 
head to toe. The cephalocaudal 
principle refers to development 
patterns that occur during infancy 
and toddlerhood, specifically 
focusing on physical development.
People develop at different 
rates, influenced by internal and 
external factors such as genetics 
or cultural influences. However, 
despite individual differences, 
cephalocaudal development is 
orderly and cohesive.
Note: Cephalocaudal and 
Proximodistal are the directions of 
development.

9.	 Option (2) is correct.
Explanation: The term sensitive 
period refers to the notion that the 
effects of environmental stimuli 
on the developing organism 
are more potent during specific 
periods of development. The 
traditional term "critical period," 
was based on the assumption that 
these developmental periods were 
innate and had a fixed onset and 
termination.
Montessori identified four main 
Sensitive Periods: Order, Spoken 
Language, Movement and Sensorial 
Activity. These are universal. All 
children have the same Sensitive 
Periods worldwide at approximately 
the same time in life for the same 
developmental purpose. This period 
occurs from birth to 6 years of age.

10.	 Option (3) is correct.
Explanation: Heredity and 
environment are vital in determining 
an individual's personality 
development. The development 
of the personality depends on 
the environment. However, the 
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pace of development depends on 
heredity, as each individual has a 
different pattern of behaviours and 
personality.
Hence, the development of children 
is a result of the interaction between 
heredity and the environment.
Heredity plays the most significant 
role in the Child's physical 
development. Heredity determines 
which traits are passed from parent 
to offspring, like the colour of eyes, 
hair, skin, height and more.
The inherited genes from parents 
influence various aspects, including 
physical characteristics like height, 
eye color, and hair color, as well as 
intelligence, behavioural patterns, 
and personality traits. 

11.	 Option (4) is correct.
Explanation: Secondary agents 
of socialization, like religious 
communities, workplaces, schools, 
places of worship, and recreational 
institutions, teach us how to act 
appropriately in a group or social 
situation. 
As a secondary agent of 
socialization, a school helps create 
a social self' in an individual 
through school activities designed 
to promote sharing, fair play, and 
collaboration. However, school is a 
secondary agent because the home 
environment is the primary agent of 
socialization.

12.	 Option (4) is correct.
Explanation: Children's physical, 
social, cultural, economic, and 
historical circumstances contribute 
significantly to their development.
Social interactions help young 
children engage in activities that 
enhance their fine and gross motor 
skills. 
Socioeconomic position, race, 
ethnicity, nativity, gender, and 
age are crucial factors which may 
influence a range of interrelated 
behaviours. 
Vygotsky's social development 
theory asserts that learning is a 
primarily social process instead of an 
independent journey of discovery.

13.	 Option (1) is correct.
Explanation: Kohlberg's theory 
proposes three levels and 6 stages of 
moral development (in which people 
move in a fixed order and moral 
understanding), which includes 
pre-conventional, conventional, and 
post-conventional.
Conventional morality is stage 2 of 
moral development. First, there is an 
acceptance of society's conventions 
concerning right and wrong, where 
an individual follows society's rules 
and norms even when there are 
no consequences for obedience or 
disobedience.

At the conventional level, most 
adolescents and adults begin to 
acquire the moral standards of 
valued adult role models, stress the 
responsibilities of relationships, and 
need a social order to define those 
relationships. It influences our view 
of what is right and wrong.
Stage 3: Good Boy-Good Girl 
Orientation
In this stage, judgement is based on 
a person's societal roles and social 
expectations. This is also known 
as the "interpersonal relationships" 
phase. For example, a child gives 
away her lunch to a person in need 
on the street because she believes it 
is the right thing to do and wants to 
be seen as a good person.

14.	 Option (3) is correct.
Explanation: Jean Piaget's theory 
states that humans create knowledge 
by interacting with their experiences 
and ideas. He noted that the 
individual is central to knowledge 
creation and acquisition.
Piaget believed that intelligence 
develops from action and that 
children create knowledge 
through their interactions with the 
environment.
They are not passive receivers of 
knowledge; instead, they actively 
work at organizing their experience 
into more complex mental structures. 
To build more complex schemas, 
children must interact with their 
environment. 

15.	 Option (2) is correct.
Explanation: Schemas (or schemata) 
are units of understanding that can 
be hierarchically categorized and 
webbed into complex relationships. 
Piaget included the idea of a 
schema in the theory of cognitive 
development. 
A child develops specific knowledge 
or unique perception to understand 
the world through experiences.
Schemas can be changed and 
reconstructed throughout a person's 
life through assimilation and 
accommodation.
Assimilation: Jean Piaget described 
how one adds information or 
experiences into existing structures 
of knowledge or schemas. As 
the current information blends 
with the new, a child expands or 
modifies his schemas, but he does 
not change the organization of the 
schema. Thus, assimilation is the 
cognitive process of blending newly 
acquired information into existing 
cognitive schemas, perceptions, 
and understanding, but the new 
information does not change the 
existing beliefs.
Assimilation occurs when children 
transform their experiences to fit 
into their existing schemes.

16.	 Option (3) is correct.
Explanation: Progressive learning 
helps students to reflect on their 
learning, follow their questions, 
and collaborate with peers and 
teachers, thus building their 
investigating, problem-solving, and 
communication skills.
A progressive classroom helps 
students develop the emotional 
intelligence and social skills they 
need to work in groups, enjoy 
healthy relationships, and live 
fulfilling and successful lives.
The progressive classroom teacher 
encourages, guides and stimulates 
thinking by providing enriching 
classroom interaction.

17.	 Option (1) is correct.
Explanation: Gardner believes 
that everyone has strengths and 
weaknesses in various bits of 
intelligence, which is why educators 
should decide how best to present 
course material given the subject 
matter and an individual assistance 
to students. Indeed, instruction 
designed to help students learn 
the material in multiple ways can 
trigger their confidence to develop 
areas in which they could be more 
robust. Ultimately, students' learning 
is enhanced when instruction 
includes a range of meaningful and 
appropriate methods, activities, and 
assessments.

18.	 Option (4) is correct.
Explanation: Egocentric speech 
refers to the behavior of children 
talking to themselves as they engage 
in activities. According to Jean Piaget, 
this egocentric speech is common 
in children until around the age of 
7 or 8 and gradually diminishes as 
they develop social speech geared 
towards others' needs. While Lev 
Vygotsky would explain this as 
the child's attempt to regulate her 
actions through private speech. In 
the given scenario, the 5-year-old 
girl talking to herself while trying 
to fold a T-shirt can be understood 
as an example of egocentric speech, 
as she is engaging in self-directed 
verbalization. This behavior reflects 
the child's egocentric nature of 
thought, where she is focused on 
her own perspective rather than 
considering others' viewpoints.

19.	 Option (2) is correct.
Explanation: Gender is a social 
construct includes norms, 
behaviours and roles associated with 
being a woman, man, girl or boy, as 
well as relationships between them. 
Socially, gender varies from society 
to society and can change over time.
Note: Gender is a social construct 
while sex is a biological construct.
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20.	 Option (3) is correct.
Explanation: "Vygotsky's social 
development theory posits that 
learning is a fundamentally social 
process rather than an independent 
journey of discovery."
He expounds that a child's learning 
benefits greatly from the guidance of 
a more knowledgeable community 
member, such as a parent or teacher.
He also suggested that children 
internalize and learn from the beliefs 
and attitudes they see around them.
He believed that culture played an 
essential role in shaping cognitive 
development, which differed across 
cultures. 
Vygotsky stressed the importance of 
language as the root of all learning 
and believed that learning was an 
active process rather than a natural 
or passive one.
In Vygotsky Collaborative learning 
theory, learners depend on each 
other to accomplish tasks they 
otherwise would not be able to 
complete individually. 
Collaborative learning is vital for 
developing critical thinking skills, 
and group work help them retain 
more information. 
Collaborative learning theory 
involves:
1.	 Peer-to-peer learning fosters 

deeper thinking in the class-
room.

2.	 It suggests that group learning 
helps students develop 
higher-level thinking, oral 
communication, self-manage-
ment and leadership skills.

3.	 Students also have the oppor-
tunity to build upon their 
leadership and organizational 
skills.

21.	 Option (1) is correct.
Explanation: To cater to individual 
differences in the classroom, a 
teacher should engage in a dialogue 
with students and value their 
perspectives. This approach helps 
teachers understand the unique 
strengths, weaknesses, and learning 
styles of each student. By actively 
listening to students and considering 
their viewpoints, teachers can adapt 
their instructional strategies and 
approaches to meet the individual 
needs of students, fostering a 
supportive and inclusive learning 
environment.

22.	 Option (2) is correct.
Explanation: Assessment is purpose-
ful when comparative evaluations 
are made to differentiate between 
students' achievements. Assessment 
serves the purpose of measuring 
and evaluating students' progress, 
understanding, and skills. It involves 
gathering evidence of learning 

and using that evidence to make 
informed judgments about students' 
performance. Compara-tive evalua-
tions allow teachers to identify areas 
of strength and areas that need 
improvement, provide feedback to 
students, and guide instructional 
decisions. It helps teachers tailor their 
teaching strategies and approaches 
to meet the specific needs of each 
student, fostering continuous growth 
and improvement.

23.	 Option (2) is correct.
Explanation: According to NCF Role 
of the Teacher is:
The National Curriculum Frame-
work, 2005 of India expects a teacher 
to facilitate children's learning 
in a manner that helps children 
construct knowledge. 
A teacher is also a learner, counsellor, 
manager, assessor, and innovator.
In addition, the NCF 2005 requires 
a teacher to facilitate children's 
learning in a manner that the 
Child is helped to construct her 
knowledge. It also opens possibilities 
for the teacher to participate in 
constructing syllabi, textbooks and 
teaching learning materials.

24.	 Option (3) is correct.
Explanation: Research suggests that 
in a diverse classroom, a teacher's 
expectations have a significant 
impact on students' learning. When 
teachers have high expectations 
for their students, it can positively 
influence students' motivation, self-
esteem, and academic performance. 
Conversely, low expectations can 
lead to reduced motivation and lower 
achievement. Teachers who have 
high expectations for all students, 
regardless of their background or 
abilities, create a positive learning 
environment where students feel 
valued and capable of reaching 
their full potential. By setting 
high expectations and providing 
appropriate support and resources, 
teachers can help students thrive in 
a diverse classroom.

25.	 Option (2) is correct.
Explanation: Diversity adds new 
perspectives to a classroom. Students 
of different genders, races, and 
backgrounds bring multiple insights 
and thoughts into a classroom which 
can add well-shaped views and can 
help students learn more from each 
other.
A teacher should treat all students 
equitably, recognizing and 
addressing the diverse needs and 
backgrounds of each student. With 
appropriate support and accommo-
dations, students with disadvantages 
can achieve to their fullest potential 
and pursue further education.
Suppose the students belong to a 
deprived group and are unwilling 

to participate in class activities. In 
that case, a teacher should continue 
to teach and make an effort to 
improve children's involvement by 
encouraging them through teaching 
by different methods and making 
them more inclusive and comfortable 
so that they feel open to participate. 
Thus, teachers can use their cultural 
and linguistic knowledge to make 
learning effective.

26.	 Option (4) is correct.
Explanation: Diversity adds new 
perspectives to a classroom. Students 
of different genders, races, and 
backgrounds bring multiple insights 
and thoughts into a classroom which 
can add well-shaped views and can 
help students learn more from each 
other.
Hence, it helps children learn many 
skills from their peers.

27.	 Option (1) is correct.
Explanation: A child with hearing 
impairment can thrive in a regular 
school environment if appropriate 
facilitation and resources are 
provided. This may include the use of 
assistive devices such as hearing aids 
or cochlear implants, sign language 
interpreters, captioned materials, 
and other accommodations. With 
these supports in place, the child 
can actively participate in class-
room activities, communicate 
effectively, and achieve academic 
success alongside their classmates. 
Inclusive education promotes equal 
opportunities and ensures that 
all students, including those with 
hearing impairment, have access to 
quality education.

28.	 Option (4) is correct.
Explanation: Gifted students can 
understand content of above level 
compared to their peers and have 
surprising emotional depth and 
sensitivity at a young age.
A strong sense of curiosity and 
enthusiasm about unique interests 
and topics guides them.
They have a mature sense of 
humour.
Hence, they learn rapidly, retain, are 
alert, keenly observant, and respond 
quickly.
Hence, gifted children become bored 
and find it challenging to engage. 
They may need to find meaning in 
what they are doing to participate, 
opt out for fear of failure, or their 
learning and social needs may not 
be met.

29.	 Option (2) is correct.
Explanation: A teacher working 
with young students can be effective 
in the classroom by making students 
fall in love with learning. 
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They can create an atmosphere 
where the students feel seen, heard, 
and valued.
Teachers can strive to know each 
student and incorporate their 
interests into the curriculum by 
genuinely engaging students and 
gaining their trust.
Hence, by knowing students, class-
room culture, and teaching mission 
and combining their learning 
styles, students can benefit from a 
diverse and meaningful classroom 
experience. In addition, connecting 
the content to the students' lives will 
make a teacher more effective.

30.	 Option (4) is correct.
Explanation: Child-centred 
education is a method of teaching 
which shifts the focus from teacher 
to student. It is an "Active Learning" 
process that helps the Child to 
advance knowledge and skills. 
This method helps recognize the 
differences in learners, implying 
that child-centred education focuses 
on each student's learning interests, 
abilities, and learning styles. It is a 
gateway to making education more 
meaningful to today's children.
Child-centered education helps 
the Child to achieve holistic 
development. The development 
includes physical capabilities, 
intellectual activities, cognitive 
abilities, emotional abilities, and 
social skills. 

Mathematics
31.	 Option (2) is correct.

Explanation: Children can learn 
about numbers with the abacus, 
especially when it comes to place 
value and the idea of tens and ones.
The teacher may start by 
demonstrating to the students 
how to represent numbers using 
the beads on the abacus if they 
want to use an abacus to teach 
them about tens and ones. They 
may demonstrate to them how to 
represent the number 34 by using 
three beads on the tens rod and four 
beads on the ones rod, for instance.

32.	 Option (2) is correct.
Explanation: Mathematicians use 
the term "mapping" to refer to the 
process of transforming one set 
of things or values into another 
set using a function or rule that 
connects each element in the first set 
to a particular member in the second 
set. 
By using mapping to visualise 
and comprehend proportional 
relationships, students can develop 
their proportional thinking skills 
and use them to solve a variety of 
mathematical and scientific issues.

Mapping is an essential component 
of the mathematics curriculum at 
all educational levels. Students can 
use mapping to improve their visual 
reasoning skills and use them in a 
variety of settings by applying them 
to complex mathematical concepts 
and addressing a wide range of 
problems in the real world.
This shows that the assertion 
that "mapping is not a part of 
mathematics curriculum" is untrue.

33.	 Option (1) is correct.
Explanation: Tesselation, symmetry 
and are primary school mathematics 
curriculum. At the primary level 
geometry is limited to shape. Angle 
are tangent at the upper primary 
stage.

34.	 Option (1) is correct.
Explanation:  The use of mathe-
matical games and puzzles can help 
students learn and comprehend 
mathematical ideas. 
Many mathematical games and 
puzzles demand that players think 
critically and solve difficulties. 
Students can gain problem-solving 
abilities from this that they can use 
in other aspects of their lives.
Games and puzzles can enhance the 
excitement and interest of learning 
maths. If maths is viewed as a 
pleasurable and rewarding activity, 
students may be more motivated 
to learn and practise it. In a relaxed 
environment, students can practise 
their abilities, which helps boost 
confidence. Students can acquire 
these abilities through playing 
these games, which are beneficial 
in a variety of spheres of life. This 
may boost their self-esteem and 
encourage them to keep studying 
and practising maths. Thus, all the 
options are correct.

35.	 Option (3) is correct.
Explanation:  Materials used to 
support learning in the classroom 
are referred to as teaching-learning 
material. These can consist of reading 
materials, worksheets, workbooks, 
movies, online resources, and more. 
Teachers can compare the areas 
of rectangles and parallelograms 
with the same base and height 
using graph paper. Teachers can 
demonstrate that two shapes 
have the same area by drawing a 
parallelogram and a rectangle on 
graph paper with the same base and 
height, respectively.
This method of using graph paper 
can help children comprehend the 
concept of area better by making it 
more practical and visual.

36.	 Option (4) is correct.
Explanation: According to NCF, 
2005, the goals of teaching 
mathematics at the primary level are 

centred on fostering in students a 
strong foundation of mathematical 
concepts, promoting mathematical 
communication, developing 
creativity and innovation, and 
encouraging connections between 
mathematics and other subjects and 
real-life situations.
To develop mathematical thinking 
and reasoning skills among 
students. This includes skills such 
as problem-solving, critical thinking, 
and logical reasoning. It does not 
aim at preparing the students for 
higher and abstract mathematics.

37.	 Option (1) is correct.
Explanation: The difference between 
the place value of 5 in 29503 and the 
face value of 7 in 32071 is given as:
The place value of five in 29503 is 
five hundred i.e., 500. 
The face value of seven in 32071 is 
seven. 
Thus, the difference is 500 – 7 = 493.

38.	 Option (4) is correct.
Explanation: Let the number of tens 
be ‘x’
	 30028	 = 28 ones + 28 thousand�
� + 10x
⇒	 30028	 = 28 + 28000 +10x
⇒	 30028 – 28 – 28000	 = 10x
⇒	 2000	 = 10x

⇒	 x
	

= 
2000
10

⇒	 x	 = 200
Therefore, the number of tens are 
200.

39.	 Option (4) is correct.
Explanation: When 80808 is divided 
by 108 we get,

8 9
8 4R24 R34 37 8 8

0 08 9

6 2
0 0 0
2 7

8 98 38 4
4 6
4 32

6 38 4– –

3 24 3– –
2 75 3

0 0 4

5 7 4

8 9 2

7 8 2– – –

8 9 30 01 1

On dividing 24 by 3 we get 8.       
40.	 Option (1) is correct.

Explanation: Let the number be ‘x’
		 603 × 28	 = 63 × 4 × x

⇒		  x
	
�

�
�

603 28
63 4

			 
= 

603 7
63
×

			 
= 

603
9

	
⇒		  x	 = 67

41.	 Option (4) is correct.
Explanation: 
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2 30 45 60

2 15 45 30

3 15 45 15

3 5 15 5

5 5 5 5

1 1 1

L.C.M = 2 × 2 × 3 × 3 × 5, but 
the smallest common multiple lies 
between 200 and 400. So, the smallest 
common multiple = 180 × 2 = 360.
The largest common factor is H.C.F
		  Factors of 15 	= 3 × 5
		  Factors of 24 	= 2 × 2 × 2 × 3
		  Factors of 45	 = 3 × 3 × 5
Thus, the H.C.F is 3. 
Now, 	

The smallest common multiple 
of 30, 45, 60, between 200 andd 400

The largest common factor of 
15, 24 and45  

is given as,

		

360
3 	

= 120 

42.	 Option (2) is correct.
Explanation: Given, the number is 
less than 50 and lies between 40 and 
50. 
So, the numbers can be 41, 42, 43, 44, 
45, 46, 47, 48 and 49. 
If the one’s digit is less than the ten’s 
digit then the number can be 41, 42, 
43.  
Now, it is said that sum of the digit 
is 7. 
Thus, we can say that the number is 
43, as 4 + 3 = 7.
The product of 4 and 3 is 12.

43.	 Option (3) is correct.
Explanation: Given that the total 
number of students is 360.
The number of girls

	
= 

2
3

360×
	
= 2 × 120 = 240

The number of boys
		  = 360 – 240
		  = 120

If
 

3
4

 of the total boys are players then, 

the number of boys who are players 	

		
= 

3
4

120× = 90

So, the number of boys who are not 
player’s
		  = 120 – 90
		  = 30 boys.

44.	 Option (3) is correct.
Explanation: Given that Harish 
bought a scooter for ` 49553. 
Amount he paid in cash			 
			   = ` 8076
Amount left to be paid
			   = ` 49553 – ` 8076
			   = ` 41477

If he pays the remaining amount 
in 37 equal instalments then, the 
amount he needs to pay in each 
instalment is

		
` 41477

37 	
= ` 1121.

	

45.	 Option (4) is correct.
Explanation: The train started the 
journey from 13:15 on Friday, which 
is same as 1:15 pm in the 12 hours 
clock.
So, from 1:15 pm to 1:15 am it is 12 
hours. 
From 1:15 am to 7:15 am (on 
Saturday) it is 6 hours. 
From 7:15 am to 7:30 am it is 15 
minutes.
The total time taken by the train 
to complete its journey is (12 + 6) 
hours + 15 minutes
		 = 18 hours and 15 minutes.  

46.	 Option (4) is correct.
Explanation: The number of minutes 
in 15 days
			   = 1524 × 60
			   = 21600
Let this be equal to the number of 
seconds in x hours. We know that 
1 day = 24 hours 
1 hours = 60 minutes
1 minutes = 60 seconds
		  21600	 = 60 × 60 × x

⇒		  x
	

= 
21600
60 60×  

= 6

Therefore, x = 6 hours, 6 × 60 × 60 
= 21600 which contains  seconds 
that is same as the number of 
minutes in 15 days.

47.	 Option (2) is correct.
Explanation: The total volume of the 
juice mixed is 
15 L 286 ml + 19 L 714 ml		
			   = 35 L
The volume of the juice used is
35 L 000 ml – 12 L 750 ml		
			   = 22 L 250 ml
			   = 20000 ml + 250 ml
			   = 22250 ml
If the remaining juice is filled in 
bottles measuring 250 ml, then the 
number of bottles that can be filled 
is,  

		

22250
250 	

=  = 89
2225
25

Thus, the number of bottles is 89.

48.	 Option (3) is correct.
Explanation: 

Fruit Quantity Rate per 
kg

Total amount 
paid

Water-
melon 

4 ½ kg
= 4.5kg

`18.50 `18.50 × 4.5
	 = ` 83.25

Cherry 1kg 200gm
= 1.2 kg

`72 `72 × 1.2 
	 = ` 86.4

Grapes 250 gm
= 0.25 kg

`120.60 `120.60×0.25 
	 = ` 30.15

Apple 1 ¾ kg
= 1.75 kg

`78.40 `78.40×1.75
	 = ` 137.2

Total amount to be paid ` 337.00
She gave ` 500 to the shopkeeper, 
the amount she will get back is 
		  ` 500 – ` 337	 = ` 163.

49.	 Option (4) is correct.
Explanation: The size of the soap is 
7cm × 5 cm × 2.5 cm.
The volume of the soap is 
	7cm × 5 cm × 2.5 cm
		  = 87.5 cm3

The volume of the box is
	56 cm × 0.4 m × 0.25 m
		  = 56 cm × 40 cm�  
� × 25 cm
		  = 56,000 cm3

The total volume of the two boxes is 
	 56,000 cm3 × 2	 = 1,12,000 cm3

If the volume of one soap is 87.5 
cm3, then the number of soap cakes 
which can be packed into two boxes 
is   

	

1 12 000
87 51

3

3
, ,

.
 cm

 cm 	
= 1,280

50.	 Option (4) is correct 
Explanation: Let a bne the side of 
square
then,	 4a	 = 72 cm

		
a
	

=  = 18 cm
72
4

Area of the square			 
			   = a2 = 18 × 18 
			   = 324 cm2

Breadth of the rectangle			 

			 
=  =  = 9 cm

a
2

18
2

Length of the rectangle			 
			   = 3 × 9 = 27 cm
Perimeter of the rectangle		
			   = 2 (27 + 9)
			   = 2 × 36
			   = 72 cm
Area of the rectangle			 
			   = 27 × 9 = 243 cm2

Hence, perimeter of rectangle and 
square are same.

51.	 Option (3) is correct.
Explanation: The volume of a cuboid 
whose length = 45 cm, breadth = 15 
cm and height = 40 cm, is given as, 
The volume of a cuboid
			   = 45 × 15 × 40
			   = 27,000 cm3

The side of the cube
			   = 0.3 m = 30 cm
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Volume of the cube
			   = side3

			   = 30 × 30 × 30
			   = 27,000 cm3.
Thus, Statement (1) is correct.
One hundredth of 10 is equal to 

		

1
100

10×
	

= 
1

10
= 0.1,

statement (2) is also correct.
	 55 Litres 55 millilitres		
			   = 55,000  ml + 55 ml
			   = 55,055 ml
			   = 55.055 Litres.
Statement (3) is not correct.

	 2005 grams	 = 
2005
1000

kg

		  = 2.005 kg. 
Statement (4) is correct.

52.	 Option (2) is correct.
Explanation: Multiplication as 
distribution over addition is an 
essential pre-requisite to under-
standing the multiplication of a 
two-digit number by one-digit or 
a two-digit number. According 
to the distributive property of 
multiplication, multiplying a number 
by a sum is equivalent to multiplying 
each digit independently, then 
adding the results.

53.	 Option (3) is correct.
Explanation: Gender differences 
cannot be considered as a reason for 
the fear and failure in mathematics. 
Some students may be afraid of 
mathematics because of its high 
degree of rigidity, pressure to be 
correct, lack of understanding.
Some students find symbolic 
notation to be frightening because 
of its unfamiliarity, abstraction, and 
potential for errors. Some students 
can find it difficult to relate the 
symbols to the ideas they stand for, 
which may increase their fear and 
lack of confidence. However, with 
practice and direction, students can 
grow more accustomed to and adept 
at using mathematical symbolic 
notation.
Some students may experience fear 
in the classroom because of lack of 
understanding, pressure to do well, 
poor interactions with teachers or 
peers, and a lack of confidence.

54.	 Option (2) is correct.
Explanation: For the purpose of 
teaching the idea of adding two 
decimal values, graph paper might 
be a valuable tool. Students can 
keep their columns aligned and 
visualize the addition process, which 
improves the accuracy and clarity 
of work. Students can effortlessly 
align their decimals on graph paper, 
resulting in precise and correct 
answers. This helps to increase 
accuracy while lowering the risk 
of mistakes. Additionally, it gives 
pupils practice chances to improve 

their confidence and competence in 
the idea of adding decimal numbers.

55.	 Option (3) is correct.
Explanation: By multiplying two 
decimal numbers on a grid of paper, 
the teacher can demonstrate how the 
multiplication of two numbers does 
not always produce a value that is 
greater than both numbers. Students 
can gain a greater knowledge of the 
concept of multiplication and realize 
that multiplication is not always 
about attaining a bigger number 
with the help of this demonstration.

56.	 Option (1) is correct.
Explanation: Non-standard 
measures should be followed by 
standard measures while teaching 
‘measurement’ to primary class 
students. Before going on to 
abstract concepts and standard 
measurements, non-standard 
measures like employing hands, 
feet, or blocks can aid children in 
developing a physical knowledge of 
measurement concepts.
Learning measurement can be made 
more enjoyable and engaging for 
students by using non-traditional 
metrics, which will increase their 
willingness to learn. Non-standard 
measurements, like the ones used 
to measure ingredients in recipes or 
distances in daily activities, can be 
utilised to assist students develop 
connections to settings in the real 
world.

57.	 Option (3) is correct.
Explanation: Projects, surveys, and 
field trips can all be useful teaching 
methods that give students real-
world experience. Field trips give 
students the chance to discover new 
places, take in real-world scenes, 
and discover various cultures, 
ecosystems, and industries, it can 
be more effective than standard 
classroom instruction in getting 
pupils interested in the material and 
helping them remember it. Surveys 
are a useful tool for gathering data 
and information about situations or 
topics. Students can learn analytical, 
research, and critical thinking 
skills through surveys. Through 
projects, students have the chance 
to put what they have learned in 
the classroom to use in real-world 
situations. These activities can 
promote student’s engagement with 
the material, the growth of critical 
thinking and problem-solving 
abilities, and improved knowledge 
retention.

58.	 Option (2) is correct.
Explanation: Taylor's abacus features 
raised beads that are simple to 
feel and move and was created 
with visually impaired students in 
mind. The abacus can aid in the 
development of kids' mathematical 
and arithmetic abilities as well as 
their fine motor skills.

Students who are blind or visually 
impaired can use computers to 
access digital resources including 
audio books, screen readers, and 
magnifiers. Additionally, interactive 
software and online resources 
created expressly to fulfil the needs 
of visually impaired pupils can be 
accessed through computers.
Activities involving geometry and 
spatial reasoning frequently use 
geo boards. Tactile geoboards with 
elevated pegs that are simple to feel 
and manipulate can be used with 
visually impaired pupils. Students 
can improve their spatial awareness, 
geometry knowledge, and problem-
solving abilities with the help of the 
geo board.
Thus, the geo board, computer, 
and Taylor's abacus are excellent 
teaching tools that can assist visually 
impaired pupils in overcoming 
the challenges of conventional 
classroom training. These resources 
can aid in the development of 
students' mathematical abilities and 
knowledge as well as their confidence 
and motivation in the field.

59.	 Option (3) is correct.
Explanation: Cognitive abilities 
like segregation, classification, and 
reversibility are frequently linked 
to Piaget's theory of cognitive 
development. 
Children in primary classes who are 
between the ages of eight and nine 
are normally capable of a variety of 
tasks involving counting, addition 
and subtraction, multiplication and 
division, fractions, time, and money. 
Seriation skills, for instance, may 
aid students in grasping the idea 
of place value in numbers, while 
categorization skills may aid students 
in spotting trends in mathematical 
processes. Understanding the 
inverse link between addition and 
subtraction, or multiplication and 
division, may be made easier for 
students with reversibility skills.

60.	 Option (4) is correct.
Explanation:  The student is facing 
difficulties in abstraction and order 
irrelevance principle.
In mathematics, the idea of 
abstraction refers to the process 
of concentrating on an object's or 
problems primary features while 
ignoring its minor details.
According to the order irrelevance 
principle, a mathematical property, 
the order in which numbers are 
added or multiplied has no impact 
on the outcome. Students can be 
given concrete demonstrations 
of this concept, such as counting 
objects in various orders or arranging 
objects in various patterns. They 
can eventually get more abstract 
in their comprehension of this idea 
and use it to solve more challenging 
mathematical issues.



280�  Oswaal CTET Year-wise Solved Papers

Environmental Studies
61.	 Option (4) is correct.

Explanation: The EVS curriculum 
is often organised around six topics 
that are meant to provide students 
with a thorough understanding of 
the environment and its importance.
Students will learn how to relate 
to the natural world and their 
surroundings through the subject 
Family and Friends, which also 
emphasises how closely connected 
humans are to one another. Students 
learn more about their own bodies, 
homes, neighbourhoods, and 
schools.
Students learn about the diversity 
of plants and animal life as well as 
the importance of biodiversity and 
conservation on the topic of plants 
and animals. It does not seek to 
help pupils comprehend plants and 
animals from a scientific point of 
view.
Things We Make and Do, Shelter, 
Water, Food, Health, and Travel 
are the other subjects. These six 
components help create a complete 
and universal understanding of the 
environment and its importance.
The subthemes 'plants' and 'animals' 
emphasize sensitising learners 
about the lives and livelihoods of 
some communities and their close 
connection with specific animals 
and plants.
It also enables students to locate 
plants and animals in social and 
cultural contexts.
The subthemes of the EVS syllabus 
don't focus on enable students to 
understand plants and animals 
from a science perspective, because 
children look at their environment 
in a holistic manner and couldn't 
compartmentalise any topic into 
'science' and 'social science'.

62.	 Option (1) is correct.
Explanation: The objective of a 
survey in the teaching and learning 
of EVS is to give students the chance 
to engage with the community, 
develop their cultural sensitivity, 
gather information first-hand, and 
use it as a means of evaluation. 
Surveys may be designed to 
gauge students' comprehension 
of important concepts, but they 
can also be used to evaluate the 
effectiveness of teaching strategies 
and instructional materials, highlight 
areas where students need more 
assistance or resources, and provide 
suggestions for improvement.
It is a technique to collect accurate 
information by asking questions 
to draw a conclusion and make 
important decisions by connecting 
with the real situation.

The survey is a method that makes 
learning productive by ensuring the 
active involvement of learners.

63.	 Option (4) is correct.
Explanation: The given responses 
tell us that children have alternate 
ideas about evaporation.
The children may have wrong and 
illogical ideas about a particular 
matter, but this is a part of 
learning. Children frequently have 
misperceptions or different notions 
about several subjects. These false 
beliefs might be the result of their 
prior knowledge or observations, 
and they might not always 
correspond with the scientific 
answers.
It's crucial to understand that these 
misunderstandings are a normal 
aspect of learning. Children have 
the chance to update and improve 
their ideas and get a deeper 
understanding of the subject when 
they face new learning settings and 
receive feedback from teachers and 
peers.
Alternative conceptions refer 
to an inaccurate idea that takes 
place due to the mismatch in 
previously assimilated and newly 
accommodated knowledge.
Alternative conceptions 
(misconceptions):
are a significant step in the teaching-
learning process.
are necessary for the learning 
process to give insight into children's 
thinking.
help the teacher to be aware of 
learners' learning styles, to cater for 
them according to their needs.

64.	 Option (3) is correct.
Explanation: Teachers have a 
significant impact on how well 
students understand scientific ideas 
like evaporation. When teaching 
students about evaporation, a 
simple water chart can be a useful 
teaching aid. The multiple stages 
of water, the evaporation process, 
connections to real-world situations, 
and discussion of the variables 
that affect evaporation can all be 
demonstrated to students using a 
water chart. Pictures will help them 
to remember the process in a much 
easier way.
Alternative conceptions refer 
to an inaccurate idea that takes 
place due to the mismatch in 
previously assimilated and newly 
accommodated knowledge.
Alternative conceptions 
(misconceptions):
are a significant step in the teaching-
learning process.
are necessary for the learning 
process to give insight into children's 
thinking.
help the teacher to be aware of 
learners' learning styles, to cater for 
them according to their needs.

65.	 Option (1) is correct.
Explanation: Divergent thinking is 
the skill that allows pupils to come 
up with several ideas or solutions to 
a problem in an unstructured, non-
linear manner. The development of 
creativity, critical thinking abilities, 
and the capacity for creative 
problem-solving all depends on this 
method of thinking. For assessing 
the divergent thinking of the 
students on the topic ‘evaporation’ 
the teacher may ask them the 
questions, “What will happen if 
there is no water cycle?”
The teacher encourages the children 
to give multiple responses that 
help in creating several alternative 
responses to a question without 
being afraid of getting assessed.
The children view problems from 
multi-perspectives which helps 
them to think logically to answer 
divergent questions.
It requires an answer with a proper 
explanation. It can't be answered 
with yes or no, which discourages 
one-word answers which test one's 
ability to think broadly on a certain 
topic.
It often requires students to analyse, 
synthesise, or evaluate a knowledge 
base, as they have to think from all 
the possible perspectives, and then 
they do an analysis of what should 
be considered correct and incorrect, 
then they synthesize the collected 
data and knowledge which helps in 
drawing inferences.

66.	 Option (1) is correct.
Explanation: Himachal Pradesh and 
Punjab are the neighbouring states 
of Jammu & Kashmir.
These two states sharing their 
boarder with J&K.

67.	 Option (2) is correct.
Explanation:  The given table shows 
the correct match of the places and 
the types of houses they have.

Places Types of houses

(a)	 Manali (ii)	 Houses made of 
stones/wood with 
slanting roofs. 

(b)	 Rajasthan (iv)	 Mud houses having 
roofs made of 
thorny bushes. 

(c)	 Assam (i)	 Elevated houses 
made of bamboo 
pillars. 

(d)	 Ladakh (v)	 Houses made of 
stones with wooden 
floor and wooden 
ceiling.

68.	 Option (3) is correct.
Explanation: The different patterns 
on the animals are due to the hair 
on their skin.
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If the animal did not have any hair 
on its skin then, there would be no 
patterns.
Those animals whose ears you can 
see have hair on their body.
These animals give birth to their 
young.
Those animals that do not have ears 
on the outside, do not have hair on 
their bodies.
These animals lay eggs.

69.	 Option (2) is correct.
Explanation: "Forestland and 
anything grown there are the 
property of people who have lived 
there for at least 25 years." The Right 
to Forest Act of 2007 mandates it.
The Right to Forests Act of 2007 
acknowledges the historic control 
over forest lands and resources 
that forest-dwelling populations, 
particularly tribal communitie, 
have had for centuries. By giving 
these groups legal protection and 
guaranteeing that government 
policies and actions involving 
forests do not negatively impact 
their means of subsistence and 
cultural practises, the law seeks to 
preserve their rights. The legislation 
was passed in 2006, and it became 
effective in 2008.
The Right to Forest Act, 2007
n	 The Right to Forest Act, 2007 

recognizes the forest rights and 
occupation in the forest land of 
the scheduled tribes and other 
traditional dwellers who have 
been residing in the forests for 
generations.

n	 People who have been living in 
the forest for at least 25 years 
have a right to the forestland 
and what is grown on it

n	 They should not be removed 
from the forest.

n	 The work of protecting the 
forest should be done by Gram 
Sabha. 

70.	 Option (3) is correct.
Explanation: By transferring patho-
gens when mosquitoes bite people 
or animals, they can spread several 
diseases. 
Malaria is a parasitic disease brought 
on by Plasm-odium is a parasite 
that, if untreated, can be fatal.
A viral infection known as dengue 
fever can result in excruciating joint 
and muscular pain, fever, and rash.
Chikungunya is a viral illness that 
can linger for several months and 
result in fever and excruciating joint 
pain.
The female mosquitoes of the 
genera Aedes, Anopheles and Aedes 
aegypti, which are widespread, 
throughout much of the world, are 
the main carriers of these diseases.

The human immunodeficiency virus 
is a virus that attacks cells that help 
the body fight infection.
It makes a person more vulnerable 
to other infections and diseases.
It is spread by contact with certain 
bodily fluids of a person with HIV.
Most commonly during unprotected 
sex (sex without a condom or HIV 
medicine to prevent or treat HIV), 
or through sharing injection drug 
equipment.
AIDS is the late stage of HIV 
infection that occurs when the 
body’s immune system is damaged 
because of the virus.

71.	 Option (2) is correct.
Explanation: Pitcher plants cleverly 
trap and eat frogs, insects, and 
mice. Pitcher plants are a particular 
kind of carnivorous plant that has 
developed the ability to capture and 
eat prey items like insects and tiny 
animals like frogs and mice. These 
plants have altered leaves with a 
"pitcher" shape and a slippery inside 
surface that makes it harder for prey 
to flee.
Tropical Pitcher Plants (Nepenthes), 
are climbing carnivorous plants.
They have impressive hanging 
pitchers that are the largest of any 
carnivorous plant.
They are native to tropical Southeast 
Asia, and come in many varieties.
Each trap is actually a modified 
carnivorous leaf, a pitfall trap, with 
bottoms filled with digestive fluid.
Their traps are great at luring, 
catching, and digesting a large 
number of insects, frogs and mice.
They are sometimes called Monkey 
Cups or Asian Pitcher Plants.
They were the second group of 
plants to be identified as carnivorous.
The first was Sarracenia.

72.	 Option (4) is correct.
Explanation: Iron is a necessary 
mineral that the body needs in an 
order to form hemoglobin, protein 
that carries oxygen in the blood. 
Good sources of iron include amla, 
spinach, and jaggery. The growth 
of the brain and a healthy immune 
system both depends on iron.
Amla, commonly referred to as 
Indian gooseberry, is a little fruit 
rich in vitamin C, iron, and other 
minerals.
Fruits and vegetables are some of 
the simplest ways to you can tweak 
your diet to meet your nutrient 
needs requirement.
One of the most significant benefits 
of vegetables fruits is that they can 
boost the immune system.

73.	 Option (1) is correct.
Explanation: The Portuguese traders 
who arrived from South America 
in the late 15th century are largely 
credited with bringing chiles to 

India. When the Portuguese were 
hunting for new spices to trade and 
exploring new trade routes, they 
found the fiery chilli peppers in 
South America.
The chilli peppers were swiftly 
incorporated into Indian cooking, 
and many of the country's regional 
cuisine now wouldn't be the same 
without them. As one of the world's 
major producers and users of chilli 
peppers today, India has a wide 
variety of chilli peppers that are 
grown and prepared in various 
ways around the nation.
Humans carry seeds from one 
place to another, knowingly or 
unknowingly.
People bring the seeds of plants 
that they find beautiful or useful, to 
grow in the garden.
Later, the seeds of these plants 
spread to other places.
Many years later, people may not 
even remember that these plants did 
not grow there earlier.

74.	 Option (3) is correct.
Explanation: A dove makes its nest 
among the thorns of a cactus plant. 
Doves are adaptable birds that can 
live everywhere, including towns, 
suburbs, woodlands, and deserts. 
They are renowned for their soft 
cooing calls and ability to form 
lifelong partnerships. 
The cactus may offer some shade 
and weather protection while the 
spines may serve as a deterrent to 
predators.
Birds build nests to lay their eggs 
and incubate their younger ones.
Different birds build nests at 
different places, some on a ground 
level, some high up on the tree.
Different birds use different 
techniques and different materials 
to build their nests.

75.	 Option (3) is correct.
Explanation: Slow-moving creatures 
that live in trees, sloths are common 
in Central and South America. Since 
they spend much of their time 
hanging upside down in trees and 
sleeping for up to 17 hours each day, 
they are renowned for having slow 
metabolisms and low energy levels. 
As herbivorous creatures, sloths 
mostly eat leaves, which give them 
the energy they require to exist. 
Their average lifespan is 40 years.
They maintain a low body 
temperature of about 86°F-93°F.
They move in and out of the shade 
to regulate their body temperature.
The sloth eats the leaves of the same 
tree on which it lives.

76.	 Option (2) is correct.
Explanation: An outstanding adap-
tation that has helped kites, eagles, 
and vultures survive and thrive in 
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their settings is their exceptional 
eyesight.
These birds' exceptional vision is 
crucial to their survival. They use 
their vision to find food, explore 
their surroundings, and stay away 
from predators. They can identify 
prey from a great height and swoop 
down with amazing speed and 
capture it.
Monocular vision:
n	 Animals with eyes on the sides 

of their heads have a wide 
visual field.

n	 It is useful for detecting prey.
n	 Such animals can focus on two 

different things at a time.
n	 When they look straight ahead, 

both their eyes focus on the 
same object.

n	 They don't have to move their 
heads to see around.

n	 They can see four times as far as 
we can.

n	 Example: Kites, Eagles, and 
Vultures.

Binocular vision:
n	 While those with eyes on 

the front of their heads have 
binocular vision.

n	 Such animals can estimate 
distances when hunting.

n	 They have to move their heads 
to see around.

n	 The binocular vision of animals 
makes them see distinctly.

n	 Example: Most animals, humans 
and birds.

77.	 Option (1) is correct.
Explanation: Jhoom farming, 
sometimes referred to as shifting 
agriculture, is an ancient farming 
technique utilised in various regions 
of India, mainly in the north-eastern 
states of Nagaland, Manipur, and 
Mizoram.
By removing and burning trees and 
other plants, farmers can clear a 
piece of land using this technique. 
In addition to using the cleared 
space to sow crops like rice, maize, 
and vegetables, burning the plants 
also helps to fertilize the soil. The 
farmers migrate to a new plot of 
land and repeat the process after few 
years of cultivation, when the soil is 
depleted. The cycle is continued by 
allowing the old piece of a land to 
develop new plants.

78.	 Option (4) is correct.
Explanation: Due to the absence of 
external ears and eardrums, snakes 
are unable to hear sounds in the 
air. However, they still have inner 
ears and jaws that can detect low-
frequency noises and vibrations.
The snake may move its head and 
a body in response to the vibrations 
made by a snake charmer playing 
a musical instrument like been. 
This is so that the snake may detect 

movement or a potential source of 
prey by sensing vibrations in the 
ground and through its jawbones.
Snakes cannot hear to snake 
charmer's music but will respond 
only by feeling the vibrations 
produced by the instrument.
They do not have external ears.
They only feel the vibrations on the 
ground.

79.	 Option (1) is correct.
Explanation: Although a mother, 
father, and their two children 
can make up a family, this is not 
necessarily true because there are 
many various kinds of families and 
family structures.
Families can consist of children 
and parents, grandparents, and 
grandchildren, siblings, extended 
relatives, adoptive or foster families, 
and single-parent households, 
among others.
There are many kinds of families 
and one cannot classify a family as 
being of only one kind:
Families are of different types.
Some are joint family, extended 
family, nuclear or single-parent 
family.
A family unit is consisting of a 
mother, father and their two children 
is called a nuclear family.

80.	 Option (2) is correct.
Explanation: The gastric juice in the 
stomach of human beings acidic in 
nature and help in the digestion of 
food. It is created by the stomach 
glands and contains digestive 
enzymes as well as hydrochloric 
acid. The gastric juice's acidity aids 
in the destruction of food-borne 
pathogens and the activation of 
digestive enzymes that break down 
proteins into smaller peptides 
and amino acids. This step in the 
digestive process is crucial for 
the body's ability to absorb vital 
nutrients from food.
The hydrochloric acid in the gastric 
juice breaks down the food and 
the digestive enzymes split up the 
proteins.
The acidic gastric juice also kills 
bacteria.

81.	 Option (3) is correct.
Explanation: According to the 
teacher's perspective on instruction 
and evaluation, the classification 
task is clear and well-defined, 
with just one possible answer. 
This suggests that if students have 
thorough comprehension of the 
instructional structure that has been 
provided for them, they will have a 
greater chance of succeeding.
It shows that the students will be 
better able to achieve success if 
they more clearly understand the 
structure of the instruction provided 
to them.

82.	 Option (1) is correct.
Explanation: The group activity 
in the EVS class must engage the 
interests of the children, it should 
appeal equally to boys and girls and 
it should appeal to children of all 
religious and cultural background. 
Boys and girls should feel equally 
engaged and motivated to participate 
in these activities, thus they should 
be inclusive and progressive. A 
pleasant and collaborative learning 
environment where students are 
inspired to interact, exchange ideas, 
and learn from one another should 
also be promoted by the activities. 
Children can gain crucial social and 
emotional abilities by doing this, 
including compassion, teamwork, 
and communication.
Use of expensive things is not 
important.
While designing a group activity in 
the EVS class, a teacher should:
n	 be conscious of the interests of 

all learners
n	 choose topic equally appealing 

to children of all religious and 
cultural background

n	 not discriminate between boys 
and girls

n	 concerned about individual 
differences of learners

83.	 Option (2) is correct.
Explanation: Except for statement 
(2), all are correct. Children can gain 
a lot of knowledge from conversing 
and discussing with their peers 
during group activities. Children 
can exchange ideas, viewpoints, 
and knowledge with one another 
through this type of collaborative 
learning, which helps increase their 
understanding of the subject at 
hand.
Additionally, adult supervision 
during group activities might be 
helpful since enables children to 
build knowledge beyond their 
own capacities. Adults can lead 
discussions, ask thought-provoking 
questions, offer advice and feedback, 
all of which can assist youngsters in 
making connections between their 
prior knowledge and experiences 
and the new information being 
presented.
It serves as an important tool to 
make learning meaningful through 
collaboration and cooperation.
In group, students work interactively 
and get involves active learning 
with adult's support.
Children learn more by talking and 
discussing with other children.
It develops critical thinking, 
brainstorming, communication, and 
life long learning skills.

84.	 Option (4) is correct.
Explanation: Assignments can be a 
useful tool for evaluating the social-
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personal qualities of students who 
are working in groups to study EVS.
A group project is one kind of 
assignment that can be used to 
evaluate social and interpersonal 
skills. Children are tasked with 
working in groups to finish a project 
that is connected to the subject 
being covered in the EVS class in 
this kind of assignment. The activity 
can be made to need cooperation, 
communication, and teamwork, 
which can aid in gauging their 
social-personal characteristics.
Formative assessment is a type of 
assessment that refers to monitor 
the child's progress throughout the 
learning and teaching process.
Various tools are used by the teacher 
to assess a student's progress. 
Portfolio, rating scale and anecdotal 
records, etc are the tools for 
formative assessment of learning in 
EVS.

85.	 Option (4) is correct.
Explanation: Some vegetables are 
fruits is scientifically correct. In 
culinary contexts, some botanical 
fruits, such as tomatoes, cucumbers, 
and eggplants, are frequently 
regarded as vegetables since they are 
frequently employed in salty meals 
rather than sweet desserts. Similar 
to this, some botanical vegetables 
including pumpkins, squash, and 
zucchini, are actually fruits since 
they grow from a flower's ovary and 
have seeds.
Botanically, fruits and vegetables are 
classified depending on which part 
of the plant they come from.
A fruit develops from the flower of 
a plant, while the other parts of the 
plant are categorized as vegetables.
Fruits contain seeds, while vegetables 
can consist of roots, stems, and 
leaves.
In other words, some vegetables 
that are considered vegetables are 
actually fruits.
Example: pumpkin, ladyfinger, 
brinjal etc.

86.	 Option (3) is correct
Explanation: The skill that is not 
likely to be assessed by asking the 
given question is experimentation. 
By engaging in the activity 
suggested by the teacher, students 
can develop their questioning, 
expression, and discussion skills. 
A crucial component of learning is 
asking questions because it enables 
students to explore new concepts 
and clarify their understanding 
of existing ones. Being able to 
convey thoughts and viewpoints 
to others requires being able to do 
so clearly and effectively. Through 
the activity, children can strengthen 
their expressive skills by practising 
speaking in a clear and succinct 

manner. Not least, taking part in 
a group discussion is a fantastic 
method for improving discussion 
skills. 
Here, questioning, discussion and 
expression skills could be assessed, 
because by asking questions 
students will get involved in the 
discussion and will express their 
view regarding the answers of the 
old people.
Experimentation skill is not likely 
to be assessed here, because 
experimentation skills refer 
to be carried out experiments 
appropriately, using a range of 
apparatus and methods.

87.	 Option (1) is correct.
Explanation: The pedagogical 
intention of the teacher is not to 
judge the best student of the class 
because all the students will try to 
do their best, each child will work 
according to his/her capabilities. 
The teacher’s aim will be to develop 
creativity among the children, make 
children understand the concept 
of recycle, reuse and reduce and to 
organise an exhibition of the best 
articles made out of waste.
The activity of making something 
useful out of waste materials is 
intended to develop creativity 
among learners and to make them 
understand the concept of 3R which 
includes recycling, reuse, and reduce 
in it.
This activity will also help to 
organize an exhibition of the best 
articles made out of waste.
It provides opportunities to use 
multiple senses.
Textbooks themselves have a number 
of suggested activities so that higher 
levels of retention can be achieved 
through active involvement in 
learning.

88.	 Option (4) is correct.
Explanation: The student's self-
evaluation procedure will include 
the responses to the four provided 
questions.
Students can reflect on their own 
learning, identify their areas 
of strength and weakness, and 
establish goals for progress by using 
the valuable tool of self-assessment. 
Students can evaluate their 
knowledge of the subject under 
study, identify any areas where they 
might require more assistance and 
consider their learning process by 
responding to the questions.
As students actively participate 
in the process of assessing their 
own progress and establishing 
improvement goals, self-assessment 
can also aid in the promotion 
of a sense of ownership and 
responsibility for one's own learning.

Self-Assessment: In this type of 
assessment, a teacher or a students 
analyzes oneself by asking questions 
like "How well did I plan for the 
activity?", "How well did I follow the 
plan?"
Peer Assessment: For example, 
when a child appreciates the map of 
school premises, drawn by a friend, 
it is peer assessment. The teacher 
can ask each child to appreciate a 
special skill of the classmate sitting 
next to her and recording it as a peer 
assessment.

89.	 Option (2) is correct.
Explanation: Young children in 
the pre-primary grade may not be 
familiar with complicated vocabulary 
or technical terms because they 
are still developing their language 
skills. Children are more likely to 
comprehend and interact with the 
material offered in the textbook 
when it uses straightforward, 
common language.
The topic is made more relatable 
and relevant to the child's life and 
experiences by using language that 
is common. This can motivate them 
to ask questions and conduct further 
research by stimulating their interest 
in the subject.
The language used in an EVS 
textbook:
n	 Should be related to the 

everyday language of the child.
n	 Should be simple and easy for 

children.
n	 Should be suitable to make 

conceptual understanding.
n	 Should be accurate and precise.
n	 Should be familiar and 

interesting to motivate learners 
to learn.

90.	 Option (2) is correct.
Explanation: When a teacher gives 
pictures of different animals to his 
students and asks them to colour 
the animals that do not live in their 
houses, the objective of the activity 
is to develop creativity, observation 
and classification skills. Students are 
instructed to observe and categorise 
animals according to their habitat 
by colouring the species that do not 
reside in their homes. Their capacity 
for observation and classification are 
enhanced by this. The students are 
also allowed to express themselves 
in a playful and interesting way by 
utilising their imaginations to colour 
the creatures.
Such activities help students become 
confident and learn to inquire 
themselves.
​This activity is aimed at boosting 
learners’ confidence generally 
and creating a positive learning 
environment.
By doing this activity, students will 
invent their hidden strength.
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They will become confident while 
talking to others during the survey.
Their Communication skills will be 
improved.
They can work in pairs or teams if 
they find that easier.
They will learn to inquire for 
themselves.

Language: English
91.	 Option (2) is correct.

Explanation:  Home language or 
mother tongue is the first language a 
child acquires at home, with family. 
Since children learn from their 
natural surroundings, which are 
home and society, to speak in their 
mother tongue. Hence, a child 
acquires a language by using the 
language in a natural interactive 
environment.

92.	 Option (4) is correct.
Explanation:  Teaching and learning 
in the mother tongue establish 
inclusiveness. 
While teaching the learners in their 
mother tongue at primary levels, 
a teacher helps a child learn in his/
her natural environment where 
he/she feels..... feels comfortable 
and included. Also, as the child 
is understood well, it develops 
confidence and makes learning easy.
Hence, using the mother tongue 
while teaching does not affect the 
intellectual development of a child.

93.	 Option (2) is correct.
Explanation:  The communicative 
Language teaching approach empha-
sizes learning to communicate in 
real-life situations. The learners use 
their natural language acquisition 
strategies to learn a language in a 
natural context.
The following example can explain 
this.
A teacher can divide the class into 
two groups and give them two 
reading topics. Then the teacher 
can ask both groups to present their 
views on the given topics, facilitating 
the easy flow of communication. 
Children will present their thoughts 
in their natural language as per 
their understanding, promoting 
vocabulary and speech. 
Here, learners discuss their personal 
experiences with partners, and 
instructors teach topics outside of 
traditional grammar to promote 
language skills in all situations. 
Thus, the focus is on the learning 
experience and the acquiring of the 
target language.

94.	 Option (1) is correct.
Explanation:  Total Physical 
Response (TPR) is a method of 
teaching language or vocabulary 
concepts using physical movement 
to react to verbal input. The process 

mimics how infants learn their 
first language, reducing student 
inhibitions and stress.
In the classroom, the teacher starts 
by saying a word with an action, 
and all the students do the action. 
It is more effective if the students 
are standing in a circle around the 
teacher and children are encouraged 
to walk around while doing an 
action.

95.	 Option (4) is correct.
Explanation:  The four skills of 
language, listening, speaking, 
reading and writing, should be 
taught in an integrated manner 
to provide a practical learning 
experience.
Listening while speaking and writing 
while reading enables internalizing 
the language's underlying 
grammaticality, facilitating language 
learning.
The learners in the classroom should 
use language for real-life purposes 
to acquire linguistic aspects.

96.	 Option (4) is correct.
Explanation:  Intonation, in 
phonetics, is the melodic pattern of 
an utterance. It conveys expressions 
like surprise, anger, or delight 
and can also serve a grammatical 
function.
Intonation is primarily the rise and 
fall of the voice in speaking.
Therefore, it may not be 
characterized by loudness.

97.	 Option (2) is correct.
Explanation:  Teaching grammar 
enables children to express 
increasingly complex ideas.
It is essential to relate new learning 
to the text as a whole. 
A teacher should teach grammatical 
features and language in context 
to help learners internalize these 
principles.
A teacher should link new learning 
with the learner's prior knowledge.

98.	 Option (1) is correct.
Explanation:  'Brainstorming' is 
a method that involves the spon-
taneous contribution of creative 
ideas and their solutions and requires 
unconstrained and intensive partici-
pation in which every group member 
is encouraged to think aloud and 
present as many ideas as possible 
based on their diverse knowledge. 
Generating as many ideas as possible 
during the session is desirable. 
The teacher should ensure that the 
suggested ideas welcomed without 
criticism, including ambitious and 
imaginative ones.

99.	 Option (2) is correct.
Explanation:  A dictionary is merely 
a list of words with their meanings 
in alphabetical order. Hence, a 
dictionary is not a form of literature.

100.	 Option (4) is correct.
Explanation:  Process orientation 
prioritizes how to do things by 
focusing on the methods and 
approaches that align with desired 
outcomes, taking into account 
cultural considerations and 
emphasizing the importance of the 
process itself.
Process-Oriented Assessment helps 
answer questions by integrating 
data from multiple sources and 
focusing on behaviours exhibited 
while individuals complete different 
tasks. 
Product assessment evaluates the 
result or outcome of a process. 
Products can include a wide range 
of student works that target specific 
skills.

101.	 Option (1) is correct.
Explanation:  A final assessment is 
similar to a summative assessment, 
which includes end-of-unit tests, 
standardized testing and cumulative 
work such as curating a portfolio 
throughout a course. In addition, a 
final assessment refers to evaluating 
students' course progress.
Formative Assessment monitors 
a student's learning and provides 
feedback that instructors can use 
to improve their teaching and 
students to improve their learning. 
More specifically, by formative 
assessments, students identify 
their strengths, weaknesses, and 
improvement areas.

102.	 Option (2) is correct.
Explanation:  Peer assessment helps 
students develop skills in assessing 
and providing feedback to others. 
It also helps them develop skills in 
self-assessment and improve their 
own work.

103.	 Option (1) is correct.
Explanation:  Assessment of learning 
is summative Assessment when 
teachers use a student's record to 
judge student achievement against 
goals and standards. 
Assessment for learning is about 
measuring the progress of a 
student's learning. 
Thus, assessment is a "process of 
gathering data to better understand 
the strengths and weaknesses of 
student learning."
Assessment as learning involves 
students actively in the process 
of learning. It teaches critical 
thinking skills and problem-
solving, encouraging students to set 
achievable goals for themselves and 
objectively measure their progress. 

104.	 Option (3) is correct.
Explanation:  Language games allow 
language practice in various skills 
(speaking, writing, listening and 
reading). Language games make 
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students focus on the use of language 
rather than on the language forms, so 
they unconsciously apply grammar 
and vocabulary.
In language games, learner will 
develop their ability to say what 
they mean to say and express 
themselves clearly.
Language games involve structured 
activities or exercises that promote 
language learning through inter-
action, communication, and engage-
ment among learners.

105.	 Option (3) is correct.
Explanation:  Remedial education 
consisting of developmental educa-
tion, basic skills education, compen-
satory education, preparatory 
education, and academic upgrading 
assist students in achieving desired 
competencies in core academic skills 
such as literacy and numeracy.

106.	 Option (3) is correct.
Explanation:  The following lines 
from the passage, "The Mahatma's 
remarkable wife, Kasturbabai, did 
not object when he failed to set aside 
any part of his wealth for the use of 
herself and their children." state that 
Kasturba Gandhi remained tranquil 
and composed and did not complain 
when Mahatma Gandhi left them 
with no wealth.

107.	 Option (4) is correct.
Explanation:  The lines from the 
passage, "A tranquil heroine in the 
intense drama that has been their life 
together, Kasturbabai has followed 
her husband to prison, shared his 
three-week fasts, and fully borne her 
share of his endless responsibilities." 
state that Kasturba Gandhi stood by 
his husband through trying times.

108.	 Option (3) is correct.
Explanation:  The following lines 
from the passage, "I thank you for 
not being one of those husbands 
who spend their time in gambling, 
racing, women, wine and song, 
tiring of their wives and children 
as the little boy quickly tires of his 
childhood toys." state that she was 
unhappy with those husbands given 
to vices.

109.	 Option (1) is correct.
Explanation:  The following lines 
from the passage, "As a young 
child, I lived in your parent’s home, 
your mother was a great and good 
woman, she trained me, taught 
me how to be a brave, courageous 
wife and how to keep the love 
and respect of her son, my future 
husband." state that she was full of 
respect for her mother-in-law.

110.	 Option (2) is correct.
Explanation:  The following lines 
from the passage, "The Mahatma's 
remarkable wife, Kasturabai, did not 
object when he failed to set aside 

any part of his wealth for the use of 
herself and their children. A tranquil 
heroine in the intense drama 
that has been their life together, 
Kasturbabai has followed her 
husband to prison, shared his three-
week fasts, and fully borne her share 
of his endless responsibilities." state 
that the author's view of Kasturbabai 
is commendable.

111.	 Option (4) is correct.
Explanation:  'Tranquil' means 'Calm'.
Hence, the correct meaning for the 
word is 'calm'.

112.	 Option (3) is correct.
Explanation: 'Lifelong' means lasting 
or remaining in a particular state 
throughout a person's life.
Hence, temporary is the correct 
antonym.

113.	 Option (4) is correct.
Explanation:  The underlined word 
"part" in the sentence is a noun. It 
refers to a portion or section of his 
wealth.

114.	 Option (3) is correct.
Explanation:  A passive voice is a 
form or set of verb forms in which 
the subject undergoes the verb's 
action.
Hence, "Time is spent on gambling 
by some husbands" is the correct 
answer.

115.	 Option (4) is correct.
Explanation:  The following lines 
from the poem "Ulysses" by Alfred 
Lord Tennyson, "For always roaming 
with a hungry heart
Much have I seen and known; cities 
of men
And manners, climates, councils, 
governments,"
state that the poet is an adventurer 
who has roamed many parts of the 
world.
The poet cannot rest from travel but 
feels compelled to live to the fullest 
and swallow every last drop of life. 
He has enjoyed all his experiences 
as a sailor who travels the seas and 
considers himself a symbol for those 
who wander and roam the earth.

116.	 Option (1) is correct.
Explanation:  "The word "lees" 
originally referred to the sediment 
accumulated at the bottom of a 
bottle of wine."
To "drink life to the lees" means 
drinking to the last drop.
Hence, the poet wishes to live life to 
the fullest.

117.	 Option (4) is correct.
Explanation:  The lines from the 
poem, "I cannot rest from travel: I 
will drink
Life to the lees: All times I have 
enjoy'd
Greatly, have suffered greatly," 

state that the poet, a wanderer and 
an adventurer, has explored many 
places and has experienced all kinds 
of suffering and happiness.

118.	 Option (4) is correct.
Explanation:  The line "Myself not 
least, but honour'd of them all" 
indicates that the speaker is aware 
of his own worth and achievements. 
It does not necessarily imply 
arrogance, but rather a sense of 
recognition and acknowledgment of 
his own merits.

119.	 Option (3) is correct.
Explanation:  A metaphor makes a 
comparison making the description 
of an object look as if it was true. 
In other words, a metaphor is an 
implied comparison. In this case, 
the speaker is using the metaphor of 
drinking wine to express the idea of 
fully experiencing and enjoying life.

120.	 Option (4) is correct.
Explanation:  In Alliteration, the 
same letter or sounds occur at the 
beginning of adjacent or closely 
connected words.
In 'hungary Heart', 'h' is used twice 
for effect; hence it is Alliteration.

Language: Hindi

121.	fodYi (1) mfpr gSA
O;k[;kµiwjh ikB~;p;kZ esa Kku&fuekZ.k esa 
Hkk"kk dh Hkwfedk dks vuns[kk ugha fd;k tk 
ldrkA
eq[; fcUnqµ
(i)	 Hkk"kk Hkkoksa dh vfHkO;fDr dk ek/;e 

gSA
(ii)	 Hkk"kk ds tfj, ge fofo/k fo"k;ksa dks 

tku ikrs gSaA
(iii)	 Hkk"kk ds ek/;e ls gh laKkukRed 

fodkl lEHko gSA
Hkk"kk ds Kku ds tfj;s gh ge i<+h&lquh jpukvksa 
dks tku ikrs gSa] le> ikrs gSa] O;k[;k dj ikrs gSa 
vkSj mudh vfHkO;fä dj ikrs gSaA
Hkk"kk ds Kku ds tfj;s gh ge vU; fo"k;ksa 
tSlsµxf.kr] foKku] lkekftd foKku vkfn 
dh leqfpr le> cuk ikrs gSa o lkFk gh mudk 
ifjfLFkfr vuqdwy ç;ksx dj ikrs gSaA

122.	fodYi (4) mfpr gSA
O;k[;kµçkFkfed d{kkvksa ds Hkk"kk&f'k{kd 
gksus ds ukrs gekjh lokZf/kd egRoiw.kZ Hkwfedk 
gS fd cPpksa dh Hkk"kkbZ {kerk ds fodkl ds 
fy, rjg&rjg ds volj tqVk,¡A
eq[; fcUnqµ
(i)	 ukVd eapu] dfork ikB bR;kfn 

xfrfof/k;ksa dks 'kkfey djukA
(ii)	 ekr`Hkk"kk dk ç;ksx djus dh vuqefr 

nsukA
(iii)	 O;fDrxr vuqHkoksa dks lk>k djus ds 

fy, çsfjr djukA
cPpksa dks ekr` Hkk"kk ç;ksx dh vuqefr çnku 
djsaA
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cPpksa dks muds ekufld ,oa ckSf¼d Lrj ds 
vuqlkj f'k{k.k nsaA
Hkk"kk f'k{k.k ds lHkh dkS'kyksa ls cPpksa dks 
voxr djk,aA
Hkk"kk vfHkO;fä ds vf/kd ls vf/kd volj 
çnku djsaA
f'k{k.k dks euksjatd cukusds fy, vf/kxe 
lkefxz;ksa dk ç;ksx djsaA
cPpksa ds d{kk f'k{k.k dks muds ifjos'k 
rFkk O;fäxr vuqHkoksa ls tksM+dj ns[kus esa 
lg;ksx djsaA

123.	 fodYi (4) mfpr gSA
O;k[;kµnwljh d{kk esa i<+us okyk jksfgr 
fgUnh dh d{kk esa viuh ekr`Hkk"kk esa ckr 
djrk gSA ge mldh Hkk"kk dks le>us dh 
dksf'k'k djsaxsA
eq[; fcUnqµ
(i)	 cgqHkkf"kdrk dks c<+kok nsukA
(ii)	 laKkukRed fodkl vkSj lkekftd 

lfg".kqrk esa lgk;dA
(iii)	 fofHkUu laLÏfr;ksa ls ifjfpr gksukA
cgq&Hkkf"kdrk ij gq, v/;;uksa ls Li"V gqvk 
gS fd cgq&Hkkf"kdrk lekt esa laçs"k.k dks 
ckfèkr djus ds ctk; lgk;rk çnku djrh 
gSA
cPpksa dh x`gHkk"kk ds ç;ksx dks lEeku nsrh 
gSA
cPpksa dks mudh x`gHkk"kk esa dgus lquus dh 
vktknh nsrh gSA

124.	 fodYi (1) mfpr gSA
O;k[;kµ^i<+uk* lh[kus ds fy, o.kZekyk 
;kn djus dk dkS'ky vfuok;Z ugha gSA
^i<+uk* lh[kus ds fy, vfuok;Z 
midkS'kyµ
(i)	 Hkk"kk dh lajpuk dh le>
(ii)	 vuqeku yxkus dk dkS'ky
(iii)	 HkkoukRed lEcU/k
fyf[kr ;k eqfær 'kCnksa dks i<+dj mudk 
Hkko xzg.k djus dk dkS'kyA
Hkk"kk dh lajpuk dh le>us dk dkS'kyA
Hkko vkSj fopkjksa dks] fyf[kr Hkk"kk ds ek/;e 
ls vfHkO;fä dks i<+dj le>us dk dkS'kyA
dforkvksa] dgkfu;ksa dks fp=ksa ds vk/kkj ij 
vuqeku yxkdj i<+us dk dkS'kyA

125.	 fodYi (1) mfpr gSA
O;k[;kµf}Hkkf"kd cPps laKkukRed fodkl] 
lkekftd lfg".kqrk vkSj foLr`r fpUru esa 
vis{kkÏr csgrj gksrs gSaA
eq[; fcUnqµ
(i)	 ;g cPps vf/kd jpukRed gksrs gSaA
(ii)	 ;g cPps fofo/k lkekftd ifjfLFkfr;ksa 

dks vklkuh ls l¡Hkky ysrs gSaA
(iii)	 budk Kku dk Lrj mPp gksrk gSA
f}Hkkf"kdrk cPpksa esa laKkukRed fodkl] 
lkekftd lfg".kqrk vkSj foLr`r fparu dks 
foLrkj nsrh gSA
f}Hkk"kh; cPps uk dsoy nks Hkk"kkvksa ij 
vPNk fu;a=.k j[krs gSa] cfYd 'kSf{kd Lrj 
ij Hkh vf/kd jpukRed gksrs gSaA

;s Hkkf"kd [ktkus ij fu;a=.k ds lkFk fofo/k 
lkekftd ifjfLFkfr;ksa dks dq'kyrkiwoZd 
laHkky ysrs gSaA

126.	 fodYi (4) mfpr gSA
O;k[;kµfyfi ls ifjp; ds vHkko esa ge 
i<+ ugha ldrsA
eq[; fcUnqµ
(i)	 fdlh Hkh Hkk"kk dk Øec¼ v/;;u 

djus ds fy, fyfi dk gksuk vR;Ur 
vko';d gSA

(ii)	 fyfi ls Hkk"kk dh lw{erk dk irk 
pyrk gSA

(iii)	 o.kZekyk dk Øec¼ Kku ds fy, 
fyfi dk gksuk vR;Ur vko';d gSA

Hkk"kk mRiUu gksdj Hkh u"V gks tkrh gSA
Hkk"kk dk dksbZ fo'ks"k egRo ugha jg tkrk gSA
iBu dks xq.koÙkkiw.kZ ugha cuk;k tk ldrk 
gSA
Hkk"kk dh lw{erk vkSj fuf'prrk dk var gks 
tkrk gSA

127.	 fodYi (3) mfpr gSA
O;k[;kµHkk"kk vkSj fopkj ds lEcU/kksa dh 
ppkZ esa okbxksRldh vxz.kh gSaA
okbxksRldhµ
(i)	 okbxksRLdh ds fl¼kUr dks lkekftd 

lkaLÏfrd fl¼kUr ds uke ls Hkh 
tkuk tkrk gSA

(ii)	 ;g lkekftd vUr%fØ;k dks vf/kd 
egRo nsrs gSa D;ksafd blesa gh ckyd 
dk laKkukRed 'kkjhfjd ,oa lkekftd 
fodkl gksrk gSA

(iii)	 ckyd lekt ds lkFk vUr%fØ;k ds }
kjk gh vius fopkj ;k Hkk"kk dk fodkl 
djrs gSaA

(iv)	 budk ekuuk gS fd igys fopkj vkrs 
gSa ckn esa Hkk"kkA

ßokbZxksRLdhÞ] lkekftd lkaLÏfrd fl¼kar 
ds çfriknd] ,d :lh oSKkfud FksA
okbxksRLdh ds vuqlkj laKkukRed fodkl esa 
Hkk"kk vkSj fpUru dk çeq[k LFkku gSA
okbxksRLdh ds vuqlkj ckyd vius O;ogkj 
dkss fu;ksftr vkSj funsZf'kr djus ds fy, 
Hkk"kk dk ç;ksx djrs gSaA
okbxksRLdh ds vuqlkj thou ds vkjfEHkd 3 
o"kks± esa Hkk"kk vkSj fopkj ,d nwljs ls Lora= 
gksrs gSa] ckn esa Hkk"kk fopkj dks funsZf'kr 
djrh gSA

128.	 fodYi (4) mfpr gSA
O;k[;kµfl¼kFkZ dh ek¡ us vius ifjokj ds 
lnL;ksa ls vuqjks/k fd;k gS fd os ?kj esa ,d 
gh Hkk"kk dk ç;ksx djsa ftlls fd fl¼kFkZ dk 
Hkk"kkbZ fodkl Bhd ls gks ldsA og fl¼kFkZ 
dks le`¼ Hkkf"kd ifjos'k ls oafpr dj jgh gSA
eq[; fcUnqµ
(i)	 ?kj ij ftruk vf/kd Hkk"kkbZ ifjos'k 

le`¼ gksxk ckyd dk Hkk"kk f'k{k.k Hkh 
mruk gh vPNk gksxkA

bl le; cPpksa dks vf/kd ls vf/kd Hkk"kk 
ç;ksx ds volj çnku fd, tkus pkfg,A

?kj ij ftruk vf/kd Hkk"kkbZ ifjos'k le`¼ 
gksxk cPpksa dk Hkk"kk f'k{k.k mruk gh mUur 
gksxkA
fl¼kFkZ dh ek¡ }kjk ?kj esa vU; Hkk"kkvksa ds 
ç;ksx dks jksduk fl¼kFkZ dks le`¼ Hkkf"kd 
ifjos'k ls oafpr djsxkA

129.	 fodYi (4) mfpr gSA
O;k[;kµçkFkfed Lrj ij Hkk"kk&f'k{k.k ds 
lUnHkZ esa ;g dFku lokZf/kd egRoiw.kZ gS fd 
cPps fy[kh@Nih lkexzh dk vFkZ le> ldsaA
çkFkfed Lrj ij Hkk"kk&f'k{k.kµ
(i)	 nwljksa dh ckrksa dks /kS;Z ls lquuk vkSj 

lquh gqbZ ckr ij viuh fVIi.kh nsukA
(ii)	 ckyd vkSipkfjd vkSj vukSipkfjd 

nksuksa rjg ds ekgkSy esa çHkko'kkyh <ax 
ls viuh ckr j[k ik,A

(iii)	 Hkk"kk dk fofHkUu lUnHkks± esa bLrseky 
djrs le; O;kdj.k dk mi;ksx cPps 
vklkuh ls dj ik,¡A

cPpksa dks ekr` Hkk"kk vfHkO;fä ds volj 
çnku djuk
Hkk"kk dkS'kyksa dk fodkl djuk
fy[kh@Nih lkexzh dk vFkZ le>us dk ç;kl 
djuk

130.	 fodYi (1) mfpr gSA
O;k[;kµçkFkfed Lrj ij ys[ku {kerk ds 
lUnHkZ esa lokZf/kd egRoiw.kZ ekSfyd fopkj 
gSaA
eq[; fcUnqµ
(i)	 ekSfyd fopkj ls ckyd dk l`tukRed 

fodkl gksxkA
(ii)	 vfHkO;Dr djus dh ;ksX;rk fodflr 

gksxhA
(iii)	 ys[ku {kerk lqn`<+ gksxhA
ys[ku dyk dh uhao gS rFkk blds vHkko esa 
ys[ku dks çHkkoh ugh cuk;k tk ldrk gSA
cPpksa dks muds vius lalkj dk l`tu djus 
rFkk mUgsa ys[ku }kjk vfHkO;ä djus ;ksX; 
cukrk gSA
cPpksa dks fofHkUu mís';ksa fd iwfrZ ds fy, 
vius fopkjksa dks fyf[kr :i esa O;ä djus 
esa l{ke cukrs gSaA

131.	 fodYi (1) mfpr gSA
O;k[;kµ^dgkuh lqukdj ml ij cPpksa dh 
çfrfØ;k tkuukA* ;g xfrfof/k Jo.k ,oa 
okpu dkS'kyksa ds fy, lokZf/kd mi;qDr 
gksxhA ekSf[kd vfHkO;fDr dh LorU=rk ls 
ckyd vius Hkkoksa dks Hkyh&Hkk¡fr çdV dj 
ikrs gSaA mudk :>ku dgkuh esa vkSj vfèkd 
c<+us yxrk gSA

Jo.k ,oa okpu dkS'kyksa ds fodkl ds fy, 

dgkuh lqukdj ml ij cPpksa dh çfrfØ;k 

tkuuk Hkh mi;qä rjhdk gSA

fganh esa lquh x;h ckr] dfork] [ksy&xhr] 

dgkuh vkfn dks vius rjhds vkSj viuh 

Hkk"kk esa dgus&lquus ds volj miyC/k gksaA
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132.	 fodYi (2) mfpr gSA
O;k[;kµok.kh vLFkk;h gksrh gS vkSj fyf[kr 

Hkk"kk dh rqyuk esa dkQh rsth ls cnyrh 

jgrh gSA fyf[kr Hkk"kk esa LFkkf;Ro gksrk 

gS tcfd ok.kh le; vkSj LFkku ds lkFk 

cnyrh jgrh gSA euq"; tks dqN Hkh lksprk 

;k fopkj djrk gS] mls Hkk"kk ds ek/;e ls 

gh vfHkO;Dr djrk gSA

ok.kh vkLFkk;h gksrh gS vkSj fyf[kr Hkk"kk dh 

rqyuk esa dkQh rsth ls cnyrh jgrh gSA

Hkk"kk ds fofHkUu Lo:iksa esa fyf[kr Hkk"kk 

loZJs"B gSA fyf[kr Hkk"kk esa le; vkSj LFkku 

ikj djus dh {kerk gksrh gS tcfd ok.kh 

le; vkSj LFkku ds lkFk cnyrh jgrh gSA

133.	 fodYi (1) mfpr gSA
O;k[;kµ^cgqHkk"kh d{kk* ls rkRi;Z gSµftl 

d{kk esa çR;sd cPps ds ?kj dh cksyh dks 

lEeku fn;k tkrk gksA

eq[; fcUnqµ
(i)	 cgqHkk"kh d{kk esa i<+krs gq, f'k{kd 

fofo/krk ds eqn~ns ij fo|kFkhZ dh 

ekr`Hkk"kk dks egRo nsdj ppkZ dj 

ldrs gSaA 

(ii)	 cgqHkk"kh dk vFkZ gS ,sls O;fDr tks nks 

;k mlls vf/kd Hkk"kkvksa dk ç;ksx 

djrs gSaA

cgqHkkf"kdrk ds ykHkµ
(i)	 vf/kd laokn dkS'ky

(ii)	 mPp Hkk"kkbZ cks/k

cgq&Hkkf"kdrk Hkkjr dh laLÏfr dk vfHkUu 

vax gSA Hkkjr ,d cgqHkk"kh ns'k gSA

cgq&Hkkf"kdrk ij gq, v/;;uksa ls Li"V gqvk 

gS fd cgq&Hkkf"kdrk lekt esa laçs"k.k dks 

ckfèkr djus ds ctk; lgk;rk çnku djrh 

gSA

^cgqHkk"kh d{kk* cPpksa dh x`gHkk"kk ds ç;ksx 

dks lEeku nsrh gSA cPpksa dks mudh x`gHkk"kk 

esa dgus lquus dh vktknh nsrh gSA

134.	 fodYi (3) mfpr gSA
O;k[;kµlaKku ds Lrj ij fodflr Hkk"kk 

{kerk vU; Hkk"kkvksa esa vklkuh ls vuqfnr 

gksrh jgrh gSA laKku ekufld çfØ;kvksa dk 

uke gS ftlds vUrxZr fopkj] /;ku] fu.kZ; 

bR;kfn 'kkfey gSaA
laKku ds Lrj ij fodflr Hkk"kk {kerk 
ds ykHkµ
(i)	 fopkjksa dh vfHkO;fDr esa lgk;dA
(ii)	 vU; Hkk"kkvksa ds lkFk rqyuk djus esa 

lgk;dA
(iii)	 fdlh Hkh fo"k; ij lkspus dh {kerk 

dks fodflr djus esa lgk;dA
Hkk"kk vfHkO;fä esa dq'kyrk vkrh gSA
vU; Hkk"kkvksa ds lkFk rqyuk djus esa l{ke 
cukrh gS

,d Hkk"kk ds 'kCnksa rFkk okD;ksa dk nwljh 
Hkk"kk esa vuqokn djus dh ;ksX;rk çnku 
djrh gS
viuh Hkk"kk vfHkO;fä ij idM+ etcwr gksrh 
gSA

135.	 fodYi (3) mfpr gSA
O;k[;kµHkk"kk&f'k{k.k dks cgqHkk"kh lUnHkZ esa 
j[kdj ns[kus dh vko';drk gSA
eq[; fcUnqµ
(i)	 blls ckyd dk laKkukRed fodkl 

gksxkA
(ii)	 l`tukRed {kerk fodflr gksxhA
(iii)	 vf/kd laokn dkS'kyA
(iv)	 mPp Hkk"kkbZ cks/kA
Hkk"kk f'k{k.k dk laca/k dsoy Hkk"kk ds 
lh[kus&fl[kkus rd gh lhfer ugha gS cfYd 
mldk jk"Vª] lekt vkSj f'k{kk ls Hkh xgjk 
laca/k gSA
fdlh Hkh ns'k esa ,d] nks ;k mlls vf/kd 
Hkk"kk cksyh o le>h tk ldrh gSA ;s lHkh 
Hkk"kk,a jk"Vªh;] lkekftd vkSj 'kSf{kd Lrj 
ij viuk fHkUu & fHkUu egRo j[krh gSA 
vkSj çR;sd lanHkZ esa blds f'k{k.k ds Lo:i 
dks çHkkfor djrk gSA

136.	 fodYi (3) mfpr gSA
O;k[;kµmu m|ksxksa dks y?kq m|ksx dgk 
tkrk gS tks Øe lk/kuksa ls 'kq: fd, tk 
ldrs gSaA
y?kq m|ksx esa lekjEHk ,oa vk;kstu ds fy, 
Hkkjh&Hkjde lk/kuksa dh vko';drk ugha 
iM+rhA os FkksM+s&ls LFkku ij] FkksM+h iw¡th vkSj 
vYi lk/kuksa ls gh vkjEHk fd, tk ldrs gSaA
lk/kuksaµlk/ku dk cgqopu gSA

137.	 fodYi (4) mfpr gSA
O;k[;kµ^e'khuhdj.k* ls rkRi;Z gS e'khuksa 
dk vf/kdkf/kd mi;ksxA Hkkjr tSls ns'k 
ds fy, y?kq m|ksxksa dk egRo vkSj Hkh vf/
kd c<+ tkrk gS D;ksafd ;gk¡ ;qokvksa dh ,d 
cgqr cM+h la[;k csjkstxkj gSA blh dkj.k 
ls egkRek xk¡/kh us e'khuhdj.k dk fojks/k 
fd;k FkkA
vf/kdkf/kdµesa vO;; Hkko lekl gSA
foxzgµvf/kd ls vkSj vf/kd
vf/kd + vf/kd = nh?kZ laf/k

138.	 fodYi (2) mfpr gSA
O;k[;kµy?kq m|ksxksa dks çJ; nsus ds lUnHkZ 
esa xk¡/kh th dh ;g /kkj.kk Fkh fd yksx 
vkfFkZd :i ls vkRefuHkZj cu ldsaA
y?kq m|ksxksa dks çJ; nsus ls yksx 
LokoyEch cusaxs] etnwj&fdlku Qlyksa dh 
cqvkbZ&dVkbZ ls QqlZr ikdj vius [kkyh 
le; dk lnqi;ksx Hkh djsaxsA bl çdkj 
vkfFkZd le`f¼ rks c<+sxh gh] lkFk gh yksxksa 
dks vius ?kj ds ikl jkstxkj fey ldsxkA
vkfFkZd esaµbd çR;; yxk gqvk gSA

vkRefuHkZj esa rkµçR;; ls cuk 
'kCnµvkRefuHkZjrkµHkkookpd laKk

139.	 fodYi (3) mfpr gSA
O;k[;kµHkkjr tSls ns'k ds fy, y?kq 
m|ksx&/ka/kksa dk egRo blfy, c<+ tkrk 
gS D;ksafd ;gk¡ cgqr&ls yksxksa dks dke dh 
t:jr gSA y?kq m|ksx&/ka/ks vius ?kj esa Hkh 
vkjEHk fd, tk ldrs gSa vkSj vius lhfer 
lk/kuksa dk lnqi;ksx djds vkfFkZd ykHk 
dek;k tk ldrk gS vkSj ^lq[kh&le`¼ cuk 
tk ldrk gSA Hkkjr tSls ns'k ds fy, rks 
bl çdkj ds y?kq m|ksxksa dk egRo vkSj Hkh 
c<+ tkrk gS D;ksafd ;gk¡ ;qokvksa dh ,d cgqr 
cM+h la[;k csjkstxkj gSA
m|ksx&/ka/kks esa ^}a} lekl* gSA
m|ksx vkSj /ka/ksµlekl foxzg

140.	 fodYi (1) mfpr gSA
O;k[;kµ^fo"kerk* dk foijhrkFkhZ ^lekurk* 
gSA
foijhrkFkhZµ
(i)	 ftu 'kCnksa ls fdlh nwljs 'kCn dk 

mYVk ;k foijhr 'kCn cus mUgsa 
foijhrkFkZd 'kCn dgrs gSaA

vlekurk* dk foijhrkFkZd 'kCn gksxk 
^lekurk*
^çfrdwyrk* dk foykse gS ^vuqdwyrk*
^lkekU;r%* dk foijhrkFkZd 'kCn gS 
^fo'ks"kr%*A
vr% lgh fodYi lekurk gSA

141.	 fodYi (2) mfpr gSA
O;k[;kµ^le`¼* 'kCn esa [kq'kgky gksus dk 
Hkko gSA vius vkdkj&çdkj rFkk lk/kuksa dh 
y?kqrk o vYirk ds dkj.k gh bl çdkj ds 
m|ksx&/ka/kksa dks dqVh&m|ksx Hkh dgk tkrk 
gSA bl çdkj ds m|ksx&/ka/ks vius ?kj esa Hkh 
vkjEHk fd, tk ldrs gSa vkSj vius lhfer 
lk/kuksa dk lnqi;ksx djds vkfFkZd ykHk 
dek;k tk ldrk gS vkSj lq[kh&le`¼ cuk 
tk ldrk gSA
;gk¡ fn, x;s 'kCnksa esa ^jkstxkj ikus dk* dk 
vFkZ gS ^ukSdjh*
^[kq'kgky gksus dk* dk vFkZ gS ^le`¼*
^/kuh gksus dk* dk vFkZ gS ^/kuoku*
^leFkZ gksus dk* dk vFkZ gS ^lkeFkZ~;*A
vr% bl vk/kkj ij [kq'kgky gksus dk lgh 
fodYi gSA

142.	 fodYi (4) mfpr gSA
O;k[;kµ^vYirk* 'kCn rRle gSA
rRle 'kCnµ
(i)	 fdlh Hkk"kk ds ewy 'kCn dks ^rRle* 

'kCn dgrs gSaA
(ii)	 laLÏr Hkk"kk ls vk, gq, 'kCnksa dks 

^rRle* 'kCn dgk tkrk gSA
^ns'kt* 'kCn dk vFkZ gS ^ns'k ls mRiUu gqvk 
;k cksypky dh Hkk"kk ls Lor% mRiUu gqvk*
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^fons'kh* 'kCn vFkkZr ^tks 'kCn ckgjh ns'kksa 
ds cksypky dh Hkk"kk ls bl ns'k esa ç;ksx 
esa vk x;h gks*
^rn~Hko* vFkkZr ^og 'kCn ftUgsa laLÏr Hkk"kk 
ls fdlh ifjorZu lfgr fgUnh esa ç;ksx esa 
yk;k x;k gks*

143.	 fodYi (4) mfpr gSA
O;k[;kµbuesa ls Hkkjh&Hkjde rhuksa ls fHkUu 
gSA ;g lekukFkhZ gSA
foykse ;k foijhrkFkhZ ;qXeµ
(i)	 i'kq&i{kh
(ii)	 ekrk&firk
(iii)	fnu&jkr

144.	 fodYi (3) mfpr gSA
O;k[;kµx|ka'k ds vuqlkj ^çJ;* 'kCn dk 
Hkko laj{k.k nsuk gSA xka/kh th dh /kkj.kk 
Fkh fd y?kq m|ksxksa dks çJ; nsus ls yksx 
LokoyEch cusaxs] etnwj&fdlku Qlyksa dh 
cqvkbZ&dVkbZ ls QqlZr ikdj vius [kkyh 
le; dk lnqi;ksx Hkh djsaxsA
vuqeksnu djukµçlUu djuk ;k gksukA
fu;qfä djukµpquko djuk ;k pquukA
LohÏfr nsukµviukus dh vuqefr nsaukA

145.	 fodYi (4) mfpr gSA
O;k[;kµdfo mUgsa ueu dj jgk gS tks 
nwljksa dks çsj.kk nsdj ejrs gSaA dfo us 
blfy, dgk gSµ
ßfeV tkrs tks nhi Lo;a jks'ku dj yk[k 
fpjkxksa dks ueu mUgsa gS] tks ykSVk ykrs gSa 
xbZ cgkjksa dksAÞ

yk[kksa nhid tykrs gSµvU/kdkj ;qä lekt 
dks ubZ jkg crkukA
ygjksa ij uko pyk nsrs gSµpkgs ftruh 
fodV ifjfLFkfr gks] mls ikj dj tkrs gSA
ljy ekxks± ij pyrs gSµvklku ekxZ dk 
p;u djukA

146.	 fodYi (1) mfpr gSA
O;k[;kµdfork esa cSlk[kh dk HkkokFkZ lgkjk 
gSA dfo us y¡xM+s O;fDr ds ek/;e ls crk;k 
gS fd og Hkh cSlk[kh dh lgk;rk ls Mxj 
dks ikj dj ysrs gSa] dsoy vkRefo'okl gksuk 
pkfg,A
lh<+h ;kuh okLrq dyk esa og jpuk ftlij 
Øe'k% iSj j[krs gq, Åij&uhps p<+k mrjk 
tk ldrk gSA
,d Qlyµ[kjhQ ds ekSle esa Tokj dh 
,d Qly ysukA
,d eghukµ30 fnu dk ,d eghuk gksrk gSA

147.	 fodYi (4) mfpr gSA
O;k[;kµ^ikuh ih I;kl cq>kuk vklk¡ gSµ esa 
vuqçkl vyadkj gSA
vuqçkl vaydkjµ
(i)	 vuqçkl nks 'kCnksa vuq $ çkl ls 

feydj cuk gSA vuq dk vFkZ ckj&ckj 
vkSj çkl dk vFkZ o.kZ gksrk gSA tgk¡ 
fdlh ,d O;atu o.kZ dh vko`fÙk 
ckj&ckj gksrh gS ogk¡ vuqçkl vyadkj 
gksrk gSA

^tgk¡ ,d gh o.kZ dh nks ;k nks ls vf/kd ckj 
gks* mls vuqçkl vyadkj dgrs gS] vr% lgh 

fodYi vuqçkl vyadkj gS D;ksafd ;gk¡ ^i* 
o.kZ dh vko`fÙk gSA

148.	 fodYi (1) mfpr gSA
O;k[;kµlekt mUgsa lnk lEekfur djrk gS 
tks vius dkeksa ls lcdk fgr djrs gSaA ogh 
yksx lfn;ksa rd iwts Hkh tkrs gSaA
lfn;ksa rd iwts tkrs gSµvkus okyh ihf<+;k¡ 
Hkh muds ckjs esa fparu fopkj djrh gSA
fuR; u, dq,¡ [kksnrs gSµçfrfnu ubZ 
eqf'dyksa dk lkeuk djrs gSA
I;kls dks ikuh fiykrs gSµftlds ikl tks 
oLrq dh deh gS] mldh miyC/krk djokdj 
mls nsukA

149.	 fodYi (2) mfpr gSA
O;k[;kµdfo ds vuqlkj mudk thou 
vklku ugha gS tks ifjJe ls chrh cgkjksa dks 
ykSVk ykrs gSaA
cSlk[kh ds lgkjs pyrs gSµfdlh dh lgk;rk 
ls pyukA
Lo;a vius fy, gh lk/ku tqVkrs gSµLokFkhZ 
cudj vius fy, dke&dkt djukA
yksxks ds lkeus gkFk QSykrs gSaµfdlh ls 
;kpuk djukA

150.	 fodYi (3) mfpr gSA
O;k[;kµ^ukSflf[k;k* gSµu;k lh[kus okykA 
dfo dgrk gS fdµßgok pys vuqdwy rks ukosa 
ukSflf[k, Hkh ys ysrs gSa] 
lgt mxj ij y¡xM+s Hkh py cSlk[kh ls 
ysrs gSaAÞ


